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HISTORY
Chapter-2 (SOCIALISM IN EUROPE AND THE RUSSIAN REVOLUTION)

GIST OF THE LESSION

Era of Social Change: Not everyone in Europe wanted the society to undergo a complete transformation.
Some believed that some changes were necessary in the society, but some people wanted a gradual change,
while some people wanted that there should be a radical change in the society. Some were 'conservative',
while others were 'liberal’ or ‘radical'.
Liberals: Liberals wanted a nation that was equal to all religions.
Radicals: Radicals advocated a nation in which the government was based on the majority of the country's
population.
Conservatives: Conservatives were generally opposed to the idea of change. He believed that the past
should be respected and change should be brought about through a slow process.
Industrial society and social change: The liberals and radicals who owned the factory felt that the efforts
of the workers should be encouraged. He firmly believed in the value of individual effort, labor and
enterprise, as opposed to the innate privileges of the old aristocracy. Some nationalists, liberals and radicals
wanted the revolutions to end the governments established in Europe in 1815. In France, Italy, Germany
and Russia, they became revolutionaries and worked to overthrow existing monarchs. After 1815,
Giuseppe Mazzini, an Italian nationalist, conspired with others to achieve this in Italy
Coming of Socialism in Europe: Socialists were against private property. Karl Marx and Friedrich Engels
said that industrial society was capitalist. Marx believed that a socialist society would free the workers
from capitalist exploitation. The workers were to create a fundamentally socialist society where all property
was socially controlled. It will be a communist society.
Support for Socialism: By the 1870s, socialist ideas had spread throughout Europe. To coordinate their
efforts, the socialists formed an international body—namely, the Second International. In Germany, these
unions worked closely with the Social Democratic Party (SPD). By 1905, socialists and trade unionists
formed a Labor Party in Britain and a Socialist Party in France.
Russian Revolution: The fall of the monarchy in February 1917 and the events of October are commonly
called the Russian Revolution.
Russian Empire in 1914: Nicholas Il ruled the Russian Empire. The Russian Empire included parts of
present-day Finland, Latvia, Lithuania, Estonia, Poland, Ukraine, and Belarus. It extended to the Pacific
and included present-day Central Asian states as well as Georgia, Armenia and Azerbaijan.
Economy and Society: At the beginning of the twentieth century, the Russian population (about 85
percent) was dominated by agriculturists; in the 1890s more factories were established and foreign
investment in industry increased. Peasants cultivated most of the land but the aristocracy, rulers and the
Orthodox Church owned much of the property.
Socialism in Russia: In 1898, socialists founded the Russian Social Democratic Workers' Party. In 1900
the Socialist Revolutionary Party was formed. The party was divided over the strategy of the organization.
Vladimir Lenin led the Bolshevik group. The Mensheviks thought that the party should be open to all.
A Turbulent Time: The 1905 Revolution: During the Revolution of 1905, Russia, together with the
Social Democrats and Socialist Revolutionaries, called for a constitution with the peasants and workers.
During the Revolution of 1905, the Tsar elected an elected advisory parliament. Or allowed the creation of
the Duma. The Tsar dismissed the First Duma within 75 days and re-elected the Second Duma within three
months. He did not want his authority to be questioned. He changed the voting laws and formed the Third
Duma with conservative politicians.
World War | and the Russian Empire: In 1914, war broke out between two European alliances —
Germany, Austria and Turkey (the Central Powers) and France, Britain and Russia (later Italy and
Romania). This was the First World War. World War | was separate on the Eastern Front and on the
Western Front. Between 1914 and 1916, Russian forces were badly defeated in Germany and Austria. The
supply of industrial goods to Russia by the Baltic Sea which was under German control was stopped.
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February Revolution in Petrograd: The Duma was suspended on 25 February. Soldiers and striking
workers gathered in the same building to form the 'Soviet' or 'Council’, the building where the Duma's
meetings were now called the Petrograd Soviet. Soviet leaders and Duma leaders formed a provisional
government to run the country. The people of Petrograd led the February Revolution that toppled the
monarchy in February 1917.

After February: Lenin called for three things in the name of 'April thesis'. In the countryside, peasants and
their socialist revolutionary leaders pressed for redistribution of land. Encouraged by the socialist
revolutionaries, the peasants occupied the land between July and September 1917.

Revolution of October 1917: The conflict between the Provisional Government and the Bolsheviks
escalated. At the meeting of the All-Russian Congress of the Soviet Union in Petrograd, the majority
approved the Bolshevik action.

What changed after October? Most industries and banks were nationalized in November 1917. The land
was declared social property and the peasants were allowed to confiscate the lands of the nobility. In cities,
the Bolsheviks enforced the division of large houses according to family needs. The Bolshevik Party was
renamed the Russian Communist Party (Bolsheviks). Lenin rejected the assembly. The Bolshevik Soviet
Union became the only party to participate in the elections to the All-Russian Congress, which became the
country's parliament. Russia became a one-party state.

Civil War: Non-Bolshevik socialists, liberals and supporters of autocracy condemned the Bolshevik
rebellion. They formed their own army and were called 'Greens' who fought against the Bolshevik 'Red'.
This was what consumed the civil war.

Socialist Society: During the civil war, the Bolsheviks nationalized industries and banks. He allowed
farmers to cultivate the land that had been socialized. A process of centralized planning was initiated.

Stalinism and Collectivism

From 1929, Stalin forced all farmers to cultivate in collective farms (Kolkhoz). Most of the land and

equipment were transferred to the ownership of collective farms. Peasants worked on the land, and
Kolkhoz's profits were shared.

Global Impact:

In many countries, communist parties were formed - such as the Communist Party of Great Britain. By the
time of the outbreak of World War 11, globally the USSR had given socialism a global face. A backward
country had become a great power. Its industries and agriculture were developed. But it had deprived its
citizens of necessary freedom and carried out its developmental projects through repressive policies. By the
end of the twentieth century, the USSR's international reputation as a socialist country had declined.

IMPORTANT NOTES

THE AGE OF SOCIAL CHANGE: After the French Revolution in many parts of the world includingEurope
and Asia, new ideas about individual rights and who controlled social power began to be discussed. In
India, Raja Rammohan Roy and Derozio talked of the significance of the French Revolution, and many others
debated the ideas of post-revolutionary Europe. Not everyone in Europe, wanted the society to undergo a
complete transformation. Some believing that some change in society was necessary but some wanted to
come about gradually, while there were the others who wanted society to undergo a radical transformation.
Some were ‘conservatives’, while others were ‘liberals’ or ‘radicals’.

Liberals: Liberals wanted a nation which tolerated all religions. They argued for a representative, elected
parliamentary government, subjectto laws interpreted by a well-trained judiciary that was independentof rulers
and officials. However, they were not ‘democrats’. They did not believe in universal adult franchise, that is,
the right of everycitizen to vote. They felt men of property mainly should have the vote. They also did not
want the vote for women

Radicals: Radicals advocated a nation in which government was based on the majority of a country’s
population. Many supported women’s suffragette movements. Unlike liberals, they opposed the privilegesof
great landowners and wealthy factory owners. They were not against the existence of private property but

disliked concentrationof property in the hands of a few.
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Conservatives: Conservatives were opposed to radicals and liberals. Earlier, in the eighteenth century,
conservatives had been generally opposed to the idea of change. By the nineteenthcentury, they accepted that
some change was inevitable but believed that the past had to be respected and change had to be brought about
through a slow process

Industrial Society and Social Change: This was the time of economic and social change. Men, women and
children were pushed into factories for low wages, Liberals and radicals who were factory owners felt that
workers’ efforts must be encouraged. Opposed to the privileges the old aristocracy had by birth, they firmly
believed in the value of individual effort, labour and enterprise. If freedom of individuals was ensured, if
the poor could labour, and those with capital could operate without restraint,they believed that societies would
develop. Many working men and women who wanted changes in the world rallied around liberal andradical
groups and parties in the early nineteenth century.

Some nationalists, liberals and radicals wanted revolutions to put an end to the kind of governments
established in Europe in 1815. In France, Italy, Germany and Russia, they became revolutionaries and worked
to overthrow existing monarchs. After 1815, Giuseppe Mazzini, an Italian nationalist, conspired with others to achieve
this in Italy.

The Coming of Socialism to Europe: Socialists were against private property. They had different visions

of thefuture. Some believed in cooperatives, some demanded that governments must encourage co-
operatives. Socialists had different visions of the future. Robert Owen (1771-1858), a leading English
manufacturer,sought to build a cooperative community called New Harmony in Indiana(USA). In France, for
instance, Louis Blanc (1813-1882)wanted the government to encourage cooperatives and replace capitalist
enterprises. These cooperatives were to be associations of people who produced goods together and
divided the profits according to the workdone by members.

Karl Marx and Friedrich Engels added that industrial society was capitalist. Marx believed that a
socialist society would free the workers from capitalist exploitation. Workers had to construct a radically
socialist society where all property was socially controlled. This would be a communist society.

Support for Socialism: By the 1870s, socialist ideas spread through Europe. To coordinatetheir efforts,
socialists formed an international body — namely, the Second International. Workers in England and
Germany began forming associations to fight for better living and working conditions. They set up

funds tohelp members in times of distress and demanded a reduction of working hours and the right to vote. In
Germany, these associations worked closely with the Social Democratic Party (SPD) and helped it win
parliamentary seats. By 1905, socialists and trade unionists formed a Labour Party in Britain and a Socialist

Party in France.

The Russian Revolution: However, till 1914, socialists never succeeded in forming a government in
Europe. In one of the least industrialized of European states this situation was reversed. Socialists took

over the government in Russia through the ‘ October Revolution’ of 1917. The fall of monarchy in
February 1917 and the events of October are normally called the Russian Revolution.

Russian Empire In 1914: Nicholas Il ruled the Russian empire. The Russian empire included current-
dayFinland, Latvia, Lithuania, Estonia, parts of Poland, Ukraine and Belarus. It stretched to the Pacific and
comprised today’s Central Asian states, as well as Georgia, Armenia and Azerbaijan. The majority religion was
Russian Orthodox Christianity which had grown out of the Greek Orthodox Church.

Economy and Society: At the beginning of the twentieth century, Russian population (about 85 per cent)
was dominated by agriculturalists, who used to cultivate for the market as well as for their own needs. St
Petersburg and Moscow were prominent industrial areas. In the 1890s more factories were set up after and
foreign investment in industry increased. Workers were divided social group. They were also divided by
their skill. Despite divisions, workers united to stop work when they disagreed with employers about
dismissals or work conditions.

Peasants cultivated most of the land but the nobility, the crown and the Orthodox Church owned large
properties. Nobles got power and position through their services to the Tsar. In Russia, peasants wanted the
land of the nobles.

Socialism in Russia: Political parties in Russia were legal before 1914. In 1898, socialists founded the

Russian Social Democratic Workers Party who respected Marx’s ideas. Some Russian socialists felt that

the Russian peasant custom of dividing land periodically made them natural socialists. Throughout the

nineteenth century, socialists were active in the countryside and formed the Socialist Revolutionary Party
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in 1900. The party struggled for peasants’ rights and demanded land belonging to nobles be transferred to
peasants. The party was divided over the strategy of organisation. VIadimir Lenin (who led the Bolshevik
group) thought that in a repressive society like Tsarist Russia the party should be disciplined and should
control the number and quality of its members. Others (Mensheviks) thought that the party should be open to
all (as in Germany).

A Turbulent Time: The 1905 Revolution

Russia was an autocracy and even at the beginning of the twentieth century, the Tsar was not subject to
Parliament. During the Revolution of 1905, Russia along with the Social Democrats and Socialist
Revolutionaries, worked with peasants and workers to demand a constitution. They were supported in the
empire by nationalists and in Muslim-dominated areas by Jadidists who wanted modernised Islam to lead
their societies. For Russian workers, bad times started from the year 1904 as prices of essential goods rose
and their real wages declined by 20 per cent. Workers went on strike demanding a reduction in the working
day to eight hours, an increase in wages and improvement in working conditions. When the procession of
workers led by Father Gapon reached the Winter Palace it was attacked by the police and the Cossacks.
Over100 workers were killed and about 300 wounded. The incident, known as Bloody Sunday, started a
series of events that became known as the 1905 Revolution. During the 1905 Revolution, the Tsar allowed the
creation of an elected consultative Parliament or Duma. After 1905, most committees and unions worked
unofficially, since they were declared illegal. The Tsar dismissed the first Duma within 75 days and the re-
elected second Duma within three months. He did not want any questioning of hisauthority or any
reduction in his power. He changed the voting laws and packed the third Duma with conservative politicians.
Liberalsand revolutionaries were kept out.

The First World War and the Russian Empire:

In 1914, war broke out between two European alliances — Germany, Austria and Turkey (the Central
powers) and France, Britain and Russia (later Italy and Romania). This was the First World War. The war
became popular and as it continued, the Tsar refused to consult the main parties in the Duma. Anti- German
sentiments ran high, as can be seen in the renaming of St Petersburg — a German name — asPetrograd. The

Tsarina Alexandra’s German origins and poor advisers, especially a monk called Rasputin, made the
autocracy unpopular.

The First World War was different on the eastern front and on the western front. Between 1914 and 1916
Russian army lost badly in Germany and Austria. Russian army destroyed crops and buildings to prevent
the enemy from being able to live off the land. The country was cut off from other suppliers of industrial
goods by German control of the Baltic Sea. railway lines began to break down by 1916. For the people in
the cities, bread and flour became scarce. By the winter of 1916, riots at bread shops were common.

The February Revolution in Petrograd

Petrograd city is divided among its people. On the right bank of the River Neva workers quarters and
factories were located and on the left bank located fashionable areas such as the Winter Palace and official
buildings. Food shortages deeply affected the workers’ quarters. On the right bank, a factory was shut
down on February 22. Women also led the way to strikes and it is called International Women’s Day.
The government imposed a curfew as the fashionable quarters and official buildings were surrounded by
workers. Duma was suspended on 25th February. The streets thronged with demonstrators raising slogans
about bread, wages, better hours and democracy. The government called out the cavalry but they refused to
fire on the demonstrators. Soldiers and striking workers gathered to form a ‘soviet’ or ‘council’ in the same
building as the Duma met and it is termed as the Petrograd Soviet. Soviet leaders and Duma leaders formed
a Provisional Government to run the country. Russia’s future would be decided by a constituent assembly,
elected on the basis of universal adult suffrage. Petrograd had led the February Revolution that brought
down the monarchy in February 1917.

After February

Under the Provisional Government, army officials, landowners and industrialists were influential. Liberals
and socialists worked towards an elected government. Restrictions on public meetings and associations
were removed. In April 1917, the Bolshevik leader VIadimir Lenin returned to Russia from his exile. Lenin
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demanded three things termed as ‘April Theses’. He wanted war to end, land to be transferred to the
peasants and banks to be nationalised. He also emphasised on renaming the Bolshevik Party to the
Communist Party. Factory committees formed and trade unions grew in numbers. When the Provisional
Government saw its power reduced and Bolshevik influence grew, they decided to take stern measures
against the spreading discontent. In the countryside, peasants and their Socialist Revolutionary leaders
pressed for a redistribution of land. Encouraged by the Socialist Revolutionaries, peasants seized land
between July and September 1917.

The Revolution of October 1917

The conflict between the Provisional Government and the Bolsheviks grew. On 16 October 1917, Lenin
persuaded the Petrograd Soviet and the Bolshevik Party to agree to a socialist seizure of power. To
organise the seizure, a Military Revolutionary Committee was appointed by the Soviet under Leon TrotskKii.
The Military Revolutionary Committee ordered its supporters to seize government offices and arrest
ministers. By nightfall, the city was under the committee’s control and the ministers had surrendered. At a
meeting of the All Russian Congress of Soviets in Petrograd, the majority approved the Bolshevik action.

What Changed after October?

Most industry and banks were nationalized in November 1917. Land was declared social property and peasants
were allowed to seize the land of the nobility. In cities, Bolsheviks enforced the partition of large houses
according to family requirements. They banned the use of the old titles of aristocracy. To assert the change,
new uniforms were designed for the army and officials, following a clothing competition organized in 1918
when the Soviet hat (budeonovka) was chosen.

The Bolshevik Party was renamed the Russian Communist Party (Bolshevik). In November 1917, the
Bolsheviks conducted the elections to the Constituent Assembly, but they failed to gain 47635majority
support. In January 1918, the Assembly rejected Bolshevik measures and Lenin dismissed the Assembly.

Bolsheviks became the only party to participate in the elections to the All Russian Congress of Soviets,
which became the Parliament of the country. Russia became a one-party state. The secret police (called

the Cheka first, and later OGPU and NKVD) punished those who criticized the Bolsheviks. Many
became disillusioned because of the censorship the Party encouraged.

The Civil War

When the Bolsheviks ordered land redistribution, the Russian army began to break up. Non-Bolshevik
socialists, liberals and supporters of autocracy condemned the Bolshevik uprising. They formed their
troops and were called ‘Greens’ which would fight against Bolshevik ‘Red’. The pro Tsar ‘Whites”
controlled most of the Russian empire. They were supported by French, American, British and Japanese
troops. All these fought a war with the Bolsheviks.

Making a Socialist Society

During the civil war, the Bolsheviks kept industries and banks nationalized. They permitted peasants to
cultivate the land that had been socialised. Bolsheviks used confiscated land to demonstrate whatcollective
work could be. A process of centralised planning was introduced.

Officials assessed how the economy could work and set targets for a five-year period and made the Five
Year Plans.

Industrial production increased between 1929 and 1933 by 100 per cent.

Stalinism and Collectivisation

By 1927-1928, the towns in Soviet Russia were facing an acute problem of grain supplies.

Stalin believed that rich peasants and traders stocked supplies to create a shortage of grains. Hence,
collectivization was the need of the hour. From 1929, the Party forced all peasants to cultivate in collective
farms (kolkhoz). The bulk of land and implements were transferred to the ownership of collective farms.
Peasants worked on the land, and the kolkhoz profit was shared. Enraged peasants resisted the authorities
and destroyed their livestock. This system would also help to modernize farms. Those farmers who resisted
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collectivization were punished, deported or exiled.

GLOBAL INFLUENCE

In many countries, communist parties were formed — like the Communist Party of Great Britain. Many
non-Russians fromoutside the USSR participated in the Conference of the Peoples of the East (1920) and the
Bolshevik-founded Comintern(an internationalunion of pro-Bolshevik socialist parties). Some received education
in the USSR’s Communist University of the Workers of the East. Bythe time of the outbreak of the Second
World War, the USSR had given socialism a global face and world stature.

By the 1950s it was acknowledged within the country that the style of government in the USSR was not in
keeping with the idealsof the Russian Revolution. In the world socialist movement too it was recognized that
all was not well in the Soviet Union. A backward country had become a great power. Its industries and
agriculture had developed and the poor were being fed. But it had denied the essential freedoms to its
citizens and carried out its developmental projects through repressive policies. By the end of the twentieth
century, the international reputation of the USSR as a socialist country had declined.

Very Short Answer Type Questions

Q.1.Who controlled economic and social powers before the 18th century in France?
Ans: The aristocracy and the church controlled the economic and social powers in France before the 18th
century.

Q.2.Name any two Indians who talked of the significance of the French Revolution.
Ans: Raja Rammohan Roy and Derozio talked of the significance of the French Revolution.

Q3. Mention the type of government favoured by the liberals.
Ans: They insisted on a representative, elected parliamentary government, subject to laws interpreted by a
well-trained judiciary that was independent of rulers and officials.

Q4.How can you say that the ‘liberals’ were not ‘democrats’?

Ans: The liberals were not democrats because they did not believe in universal adult franchise and felt that
only men of property should have a right to vote. They were against voting rights to women.

Q5. Mention one significant view of the radicals.

Ans: Radicals wanted a nation in which the government was based on the majority of a country’s
population.

Q6. Which group of ideology was against any kind of political or social change earlier in the 18"century?
Ans The conservatives, in the early 18th century were against any kind of political and social change.

Q7. What were the ideas of ‘conservatives’ regarding social change in the 19th century?
Ans: The conservatives believed that some change was required in the society but the changes should be
slow.

Q8. What kind of developments took place as a result of new political trends in Europe?
Ans: As a result of new political trends in Europe industrial revolution occurred, new cities came up and
railways expanded.

Q0. List the major change during industrialisation.
Ans: Men, women and children were brought to factories during industrialisation.




Q10. Who were the people that wanted to put an immediate end to the existing governments in Europe in
1815?

Ans: Some nationalists, liberals and radicals who became revolutionaries wanted to put an immediate end
to the existing governments in Europe in 1815.

Q11. Who was responsible for achieving equal rights in Italy?
Ans: An Italian nationalist, Giuseppe Mazzini, conspired with others to achieve equal rights to all citizens
in Italy after 1815.

Q12. Why were the socialists against private property?
Ans The socialists were against private property because individuals who owned property were concerned
only about their personal gains rather than social welfare.

Q13. What did Karl Marx want workers to overthrow? Why?
Ans Karl Marx wanted the workers to overthrow capitalism and free themselves from capitalist
exploitation.

Q14. Which international body was formed in Europe in the 19th century to coordinate the efforts of
socialists all over Europe?

Ans: An international body was formed in Paris in 1889, to coordinate the efforts of socialists all over
Europe. It was called the Second International.

Q15. Name the socialist parties formed in Britain and France in 1905.
Ans: Labour Party was formed in Britain by socialists and trade unionists. A Socialist Party was also
formed in France.

Q16.Who was the ruler of Russia and its empire in 1914?
Ans: The ruler of Russia and its empire was Tsar Nicholas II.

Q17. Name the religions practised in the Russian empire.
Ans: The religions in the Russian empire included Russian Orthodox Christianity’, Catholics, Protestants,
Muslims and Buddhists.

Q18. Which was the major occupation of Russian people at the beginning of twentieth century?
Ans: Agriculture was the occupation of about 85 per cent of the Russians at this time.

Q19. Name any two factors that led to the setting up of industries in Russia by the end of the 19th century.
Ans: The expansion of Russian railway network and increase in foreign investment led to the setting up of
industries in Russia by the end of the 19th century.

Q20.What was the commune/mir?
Ans: The commune/mir was a cooperative community of people in Russia living together and sharing
possessions and responsibilities.

Q21.0n what point did the Social Democrats and Socialist Revolutionaries differ with each other?
Ans: The socialists felt that peasants were not a united group. Some were poor while others were rich,
some worked as labourers while others were capitalists.

Q22. Who were jadidists?




Ans: The jadidists were the Muslim reformers within the Russian empire. They wanted modernised Islam
to lead their societies.

Q23.What was Bloody Sunday?
Ans: Bloody Sunday was an incident when a workers procession led by Father Gapon was attacked by the
police and at Winter Palace Cossacks Killing hundreds.

Q24.Why did the Tsar dismiss the first Duma within 75 days of its election?
Ans: The Tsar dismissed the first Duma within 75 days of its election because the Tsar did not want any
reduction in his power and anyone to question his authority.

Q25.Between which two European alliances First World War broke out?
Ans: The two European alliances were Germany, Austria and Turkey and France, Britain and Russia.

Q26. Give one instance of high anti-German sentiments in Russia.
Ans: Renaming of St Petersburg a German name, as Petrograd showed the high anti-German sentiments.

Q27. What were Lenin’s ‘April Theses’?
Ans: The three demands of Vladimir Lenin after his return to Russia in April 1917 were called Lenin’s
April Theses’.

Q28. What was Budeonovka?
Ans: Budeonovka was the Soviet hat that was chosen to assert change in army uniform.

Q29. What was the Bolshevik Party renamed after October Revolution?
Ans: Bolshevik Party was renamed the Russian Communist Party after the October Revolution.

Q30. What was Cheka?
Ans: Cheka was the secret police set up by the Bolsheviks to clamp down on its critics.

Q31.To whom did the ‘reds’, ‘greens’ and ‘whites’ refer to during the Civil War in Russia?
Ans: The ‘reds’ were the Bolsheviks

The ‘greens’ were the Socialist Revolutionaries

The ‘whites’ were the pro-Tsarists.

Q32. Who were the ‘Kulaks’?
Ans: Kulakas were the rich peasants who held most of the land in Russia.

Short Answer Type Questions

Q1. Distinguish between the ideas of liberals and radicals.

Ans: Liberals: Liberals wanted a nation which tolerated all religions. They argued for a representative, elected
parliamentary government, subject to laws interpreted by a well-trained judiciary that was independent of
rulers and officials. However, they were not ‘democrats’. They did not believe in universal adult franchise,
that is, the right of every citizen to vote. They felt men of property mainly should have the vote. They also
did not want the vote for women

Radicals: Radicals advocated a nation in which government was based on the majority of a country’s
population. Many supported women’s suffragette movements. Unlike liberals, they opposed the privileges of
great landowners and wealthy factory owners. They were not against the existence of private property but
disliked concentration of property in the hands of a few.
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Q2.Why did socialists believe that private property was the root of all social ills of the time?

Ans: Socialists argued that individuals own the property that gave employment but the men with property
were concerned only with personal gain and not with the welfare of those who made the property
productive. So if a society as a whole rather than single individuals controlled property, more attention
would be paid to collective social interests. Socialist wanted this change and campaigned for it.

Q3. How you say that liberals were not democrats?

Or
What were the ideas that liberals cherished?
Ans: (i) One of the groups that looked to change society in the nineteenth century were the liberals. They
wanted a nation which tolerated all religions. They also opposed the uncontrolled power of dynastic rulers.
(if) They wanted to safeguard the rights of individuals against government. They argued for a
representative, elected parliamentary government, a subject to laws interpreted by a well-trained judiciary
that was independent of rulers and officials.
(iii) But liberals were not democrats. They did not believe in universal adult franchise. They felt that men
of property mainly should have the right to vote. They were also against women’s right to vote.

Q4.Why did Kerenskii’s Government become unpopular in Russia ?
Ans: The Kerenskii’s government become unpopular in Russia because :

His failure to feel the pulse of the nation. He tried to suppress the workers movement and the
Balshevik influence.

People wanted peace, but he tried to continue the war.

The non-Russian nationals failed to get an equal status under his government.

Q5.Which event in Russian history is known as Bloody Sunday ?

Ans: On 9th January, 1905 a mass of peaceful workers with their wives and children was fired at St.
Petersburg while on its way to the Winter Palace to present a petition to the Tsar.

More than a hundred workers were killed and about 300 were wounded.

The incident known as Bloody Sunday in history of Russia as the massacre had taken place on Sunday.

Q6.What were the immediate consequences of the Russian Revolution ?

Ans: The immediate consequences of the Russian Revolution were :

(a) Most industries and banks were nationalized in November 1917. This meant the government took over
the ownership and management. Land was declared social property.

(b) In cities, Bolsheviks enforced the partition of large houses according to family requirements.

(c) They banned the use of old title of aristocracy.

Q7.What was the basic principle of the Marxist theory ?

Ans: The basic principle of the Marxist theory were :

(a) Marx believed that the conditions of workers could not improve if profit was accumulated by private
capitalists.

(b) Workers had to overthrow capitalism and the rule of private property.

(c) Workers must construct a radically socialist society where all property was socially controlled. This
would be a communist society and a Communist Party was the natural society of the future.

Q8.Explain the main demands of “April Theses”.

Ans:In April 1917, the Bolshevik leader Vladimir Lenin returned to Russia from his exile. He and the
Bolsheviks had opposed the war since 1914. Now he felt it was time for soviets to take over power. He put
three demands which were known as Lenin’s April Theses.

The three demands were :

(a) He declared that the war to be ended

(b) Land to be transferred to the peasants




(c) The banks to be nationalized.

Q9. Which social factors contributed to the Russian Revolution?

Ans. In Russia most industry was the private property of industrialists.

.Workers were exploited by industrialists.

.Wages were very low and working conditions very poor.

.Working hours were long. In the country side peasants cultivated most of the land.
But the nobility, the crown and the Orthodox Church owned large properties.

In Russia peasants wanted the land of the nobles to be given to them.

Tsarist Russia joined on the side of the Allied Power with the aim of making some military gain.
Russian army lost badly in Germany and Austria between 1914 and 1916.

There were 7 million causalities by 1917.

Such huge defeats were humiliating and shocking for people of Russia

Q10. Why Socialists were against private property? Explain.

Ans. Socialists were against private property and thought that it was the mail cause of all

social ills of the time.

Individuals owned the property that gave employment but the propertied were concerned

only with personal gain and not with the welfare of those who made the property productive.

So society as a whole rather than single individual controlled property, more attention

would be paid to collective social interests. Socialists wanted this change and campaigned for it.

Q11. Explain the collectivization policy of Stalin.

Ans. The Collectivization policy was introduced by Stalin who came to power after the death of Lenin. He

believed that rich peasants and traders in the countryside were holding stocks in the hope of higher prices.
The main reason was the shortage of grain supplies. After 1917, the land had been given over to peasants.
These small sized peasant farms could not be modernized. To develop modern farms and run them along
industrial lines with machinery, it was necessary to eliminate kulaks, take away land from peasants and
establish state controlled large farms. From 1929 the party forced all peasants to cultivate in collective
farms.

Q12. Highlight the Autocratic rule of Tsar Nicholas IlI.

Ans. Russia was an autocratic. Unlike other European rulers, even at the beginning of the twentieth
century. Tsar was not subject to parliament. Tsar dismissed the Duma within 75 days and re-elected second
Duma within three months. He did not want any questioning of his authority or any reduction in his power.
He changed the voting laws and packed the third Duma with conservative politicians. Liberals and
revolutionaries were kept away.

Q13. Write about the impact of Russian Revolution in India.

Ans. Among those the Russian Revolution inspired were many Indians.

Several attended the communist University.

By the mid-1920s the Communist Party was formed in India.

Important Indian political and cultural figures took an interest in the Soviet experiment and visited Russia,
among them Jawaharlal Nehru and Rabindernath Tagore, who wrote about Soviet Socialism.

LONG ANSWERS TYPE QUESTIONS




Q1. What social changes were seen in the society after industrialization?

Ans. After the industrial revolution, many social and economic changes took place in European society.
Industrialization brought men, women and children to factories.

Unemployment was common, particularly during the times of low demand for industrial goods.

Workers were exploited by industrialists and their working hours were too long and wages were very low.
Housing and sanitation were problems since towns were growing rapidly due to migration of people or
workers from rural to the urban areas.

Q2. What was the impact of industrialization on Tsarist Russia?

Ans. Unemployment was common. The workers and peasants were discriminated and exploited by factory
owners and landlord.

Industrialization brought men, women and children to factories. They were exploited by the industrialists.
Working hours were too long and working conditions were worst.

Most of the industries were private property of individuals.

The government supervised large factories to ensure minimum wages and limited working hours.

It was the time of social and economic changes.

New industrial regions and railways expanded.

Q3. Describe the economic condition of Russia before 1905.

Ans. The beginning of the twentieth century, the vast majority of Russia’s people was agriculturist.
85% of the Russian empire’s population earned their living from agriculture.

Industries were found in pockets.

Prominent industrial areas were St Petersburg and Moscow.

Craftsmen undertook much of the production, but large factories existed alongside craft workshop.
Many factories were set up in the 1890s, when Russia’s railway network was extended, and foreign
investment in industries increased.

Coal production doubled and iron and steel output quadrupled.

Q4. Highlight the social and political conditions that led to the Russian Revolution.

Ans. In Russia most industry was the private property of industrialists.

Workers were exploited by industrialists.

Wages were very low and working conditions very poor.

Working hours were long.

In the country side peasants cultivated most of the land. But the nobility, the crown and the Orthodox
Church owned large properties.

In Russia peasants wanted the land of the nobles to be given to them.

Tsarist Russia joined on the side of the Allied Power with the aim of making some military gain.
Russian army lost badly in Germany and Austria between 1914 and 1916.

There were 7 million causalities by 1917.

Such huge defeats were humiliating and shocking for people of Russia.

Karl Marx’s theory of scientific socialism appealed to the people.

He told the people to overthrow capitalism.

By the 1870s, socialist ideas had spread throughout Europe.

Workers had formed associations to fight for better working conditions.

Q5. Explain any five effects of the Russian Revolution of 1917 over Russia.

Ans. The Russian revolution put an end to the autocratic Tsarist rule in Russia.

The ruling Romanov Dynasty was abolished.

The new Soviet Government announced its withdrawal from First World War It led to the establishment of
world’s first socialist government.

There took place nationalization or acquisition of all industries, private property, banks, mines, telephones,
and railways etc.

All these declared government property.




It led to the beginning of planned economic development under the leadership of Stalin. Under the
leadership of Stalin USSR became one of the Super Power of the World.

Q6. Describe the circumstances which were responsible for the Russian Revolution.
Ans: The circumstances which were responsible for the Russian Revolution as given below :

The Russian peasantry was in a miserable condition. The farmers could not get even two square
meals a day. Their land holdings were very small and they had to pay heavy taxes.

The Russian as well as the foreign capitalist industrialists exploited the workers by taking 12-14
hours of work and paying very low wages to them. The workers had no right to form trade unions or
seek reforms. They led a miserable life.

The Tsar Nicholas 1l was a despotic and autocratic ruler. He enjoyed unlimited powers and rights.
The people of the higher strata enjoyed great privileges. The bureaucracy was corrupt and inefficient.
The common people who suffered most, were fed up with the absolute rule of the Tsar and wanted to
get rid of him.

Karl Marx propagated ‘Scientific Socialism’. He strongly opposed capitalism which meant untold
exploitation of the common men.

Q7. Explain in brief Lenin’s contribution to the Russian Revolution of 1917.
Ans:

Lenin had played an important part in the Russian Revolution of 1917. It is true that after the fall of
Tsar, Lenin led the revolutionaries. Really, it was the beginning of the revolution.

The Provisional Government, under the leadership of Kerenskii, could not implement the demand
of the people and failed.

Under Lenin’s leadership, the Bolshevik Party put forward clear policies to end the war, transfer the
land to the peasants and advance the slogan ‘All power to the Soviets’.

He had described the Russian empire as a Prison of Nations and had declared that no genuine
democracy could be established unless all the non-Russian people were given equal rights.

Q8.What were the main objectives of the Russian Revolutionaries ?
Ans: The main objectives of the Russian Revolutionaries were :

The Tsar had thrown Russia into the First World War to fulfil his imperialistic desires. It was the
demand of the revolutionaries that Russia should withdraw from the war. So, it withdrew from the
First World War in 1917 after the Revolution.

After the Revolution, the land was given to the tillers. The landlords had to give the land to the
government. Kolkhoz and Sovkhoj farms were established. In Kolkhoz farms, the peasants worked
collectively.

The revolutionaries had demanded an improvement in the conditions of the industrial workers.
They demanded better wages, good working conditions and removal of exploitation. After 1917, the
industries were nationalised and the dream of workers was fulfilled.

The next aim of the revolutionaries was that the non-Russians should be given equal status. Lenin
believed that without this status these people could never become real Russians.

Q9.What was the global impact of the Russian Revolution ?
Ans: The global impact of the Russian Revolution were :

The Bolshevik Revolution helped in the spread of Socialist and Communist ideas all over the world.
Communist Governments were established in many European countries.

Most of the Bolshevik leaders believed that a series of revolutions will sweep other countries of the
world along with revolution in Russia. Many non-Russians from outside the USSR participated in
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the conference of the people of the east and the Bolshevik-founded Comintern, an international union
of Pro-Bolshevik socialist parties.

The Bolshevik government ‘granted freedom to all its colonies immediately after coming to power.
Thus, the new Soviet State came forward as a friend of the subjugated people and proved to be a
source of great inspiration to the freedom movements of various Asian and African countries.

By the end of the 20th century, the international reputation of the USSR as a socialist country had
declined through it was recognised that socialist ideals still enjoyed respect among its people.

VALUE BASED QUESTIONS AND ANSWERS

Q1.What were the social, economic and political conditions in Russia before 1905?

Ans: The following were the social, economic, and political conditions in Russia before 1905.

(a) Social Conditions: The majority religion was Russian Orthodox Christianity which had grown out of
the Greek Orthodox Church. But the empire also included Catholics, Protestants, Muslims and Buddhists.
The non-Russian nationalities were not treated equal to that of Russian nationalities. They were not given
the freedom to follow their culture and language. Workers were divided into group on the basis of skill and
training. Peasants formed their group called commune or mir.

(b) Economic conditions: The majority of Russians were agriculturists. Grain was the main item of export
from Russia. Industries were few. Prominent industrial areas were St Petersburg and Moscow. Much of the
production was done by the craftsmen. There were large factories alongside the craft workshops. With the
expansion of the Russian rail network, foreign investment in factories grew. There were huge coal, iron and
steel production. There were equal numbers of factory workers and craftsmen. The workers were exploited
by capitalists who made their life miserable.

(c) Political Conditions: Russia was a monarchy. (Tsar Nicholas Il ruled Russia and its empire that
extended to current-day Finland, Latvia, Lithuania, Estonia, parts of Poland, Ukraine and Belarus. It
stretched to the Pacific and comprised today’s Central Asian states, as well as Georgia, Armenia and
Azerbaijan. The Tsars believed in the divine rights of kings. They were not responsible to the Parliament.
All political parties were illegal in Russia

Q2. What were the main changes brought about by the Bolsheviks immediately after the October
Revolution?
Ans: Many changes were brought about by the Bolsheviks after the October Revolution. They were:

1. Industries and banks were nationalised. This meant that the government now had their ownership and
management. The land was declared social property and peasants were allowed to seize the land of
the nobility. In cities, Bolsheviks enforced the partition of large houses according to family
requirements.

The use of the old titles of the aristocracy was banned. New uniforms for the army and officials were
designed.

The Bolshevik Party was renamed as the Russian Communist Party (Bolshevik).

Despite opposition by their political allies, the Bolsheviks made peace with Germany and withdrew
from the First World War.

In the later years, the Bolsheviks became the only party to participate in the elections to the All
Russian Congress of Soviets. It became the Parliament of Russia.

Q3. State one idea different from each other for liberals, radicals, and conservatives.

Ans: i) Liberals: They believed in changing the society. They wanted a nation which tolerated all religions.
They wanted to safeguard the rights of individuals against government. However, they thought that only
propertied men should have the right to vote. They also did not want women to vote.
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ii. Radicals: In contrast, they believed in the rule of majority of the counry’s population. They opposed the
privileges of the landowners and factory owners and supported women’s right to vote.

iii. Conservatives: They opposed both the liberals and radicals. Earlier they opposed any kind of change but
by the nineteenth century, they accepted the change but believed that the past has to the respected and
change had to be brought through a slow process.

Q4. Discuss the role and importance of Lenin in the history of the USSR.
Or
Examine the role of Lenin in Russian Revolution.
Ans: After returning from exile, Lenin felt that the time was right for the Soviets to take over the power in
Russia. Following was the role played by Lenin in Russian Revolution 1917.
(a) He led the Bolsheviks in the revolution.
(b) He declared three points, to end war, transfer land to peasants and nationalisation of banks that came to
be known as April Theses.
(c) He introduced radical land reforms that led to turn Russia into a socialist society.
(d) He was the driving force behind the October Revolution that eventually led to the formation of the
Soviet Union.
(e) Lenin was instrumental in the victory of Bolsheviks in the civil war (1917-1922).

Q5. Critically examine Stalin’s collectivisation programme.

Ans: Stalin began collectivisation programme to find a solution to the food shortage. But this proved to be
disastrous in the subsequent years in the following ways:

() The policy of eliminating kulaks and establishing state-owned farms was widely criticised.

(b) Peasants were compelled to work in the kolkhoz.

(c) Peasants resisted the authorities and their livestock were destroyed. It resulted in the decline of cattle.
(d) Policy of deportation and severe punishment was followed for all those who refused to do so.

(e) There was no such increase in the production of food grains. Even his party members criticised Stalin
the way the policy was followed.

MAP WORK

Locate and label the following countries on the outline political map of World:
Major countries of the First World War

Central Powers: Germany, Austria-Hungary, Turkey (Ottoman Empire)
Allied Powers: England, France, Russia, America

)
Major countries of First World War
] central Powers: 1. Germany 2. Austria 3. Mumgary 4. Turkey

W T[] Allied Powers: 1. England 2. Framce 3. Russia 4. America

CHAPTER 3: NAZISM AND THE RISE OF HITLER
GIST OF THE LESSION




Nazism was a structure of ideas about the world and politics.

Birth of the Weimar Republic: The defeat of Imperial Germany in World War | and the abdication of
the Emperor gave the parliamentary parties an opportunity to rebuild German politics. A National
Assembly met in Weimar and established a democratic constitution with a federal structure. The
republic was not pleasing to its own people because of the conditions Germany was forced to accept
after its defeat at the end of World War 1.

Effects of the War- The war had a devastating effect on the entire continent, both psychologically and
economically. Due to debt, Europe became indebted. The republic carried the burden of war crimes
and national humiliation and was financially crippled, being forced to pay compensation.

Political Radicalism and Economic Crisis -Communists and socialists now became enemies of each
other and could not make a front against Hitler. Political fanaticism was heightened by the economic
crisis of 1923. With hyperinflation, the Americans intervened and pulled Germany out of trouble by
introducing the Doves Plan, which redrawn financial conditions to ease the financial burden on the
Germans.

Years of Recession

Some stability was observed in 1924-1928, as if it were on a pile of sand. The German economy was
badly affected. The middle class and working population were filled with fear of proletariat. By 1932,
industrial production had dropped to 40 percent of 1929 levels. Because of proportional
representation and Article 48, people lost faith in the democratic parliamentary system, which did
not provide any solution.

Hitler's rise to power: This deepening crisis in economy, politics and society formed the background of
Hitler's coming to power. Hitler was a powerful and effective speaker.

Destruction of Democracy: After gaining power in 1933, Hitler set out to dismantle the structure of
democratic governance. Abolished democratic institutions and passed the Enabling Act.
Reconstruction: Hitler insisted on rebuilding Germany after coming to power. Responsibility for
economic reform was entrusted to the economist Hjalmar Schacht, whose aim was full production
and full employment through a state-funded work-making program. Hitler also in foreign policy
Had great success.

Nazi Worldview: Nazi ideology was synonymous with Hitler's worldview. According to it there was
no equality between people, but only a racial hierarchy. The white, blue-eyed, Nordic German
Aryans were at the top, while the Jews were at the bottom. He came to be regarded as an anti-caste,
arch-enemy of the Aryans.

Establishment of the Racial State

The Nazis quickly began to realize their dream of creating an exclusive racial community of pure
Germans, physically destroying all those who were seen as "undesirable’ in the expanding empire.
The Nazis only wanted a society of ‘pure and healthy Nordic Aryans'.

Racial Utopia
Genocide and war became two sides of the same coin. Occupied Poland was divided. The German
occupied Europe was resettled.

Youth in Nazi Germany: Hitler believed that a strong Nazi society could be established by educating
children of Nazi ideology. Youth organizations were given the responsibility to educate German
youth in the "spirit of National Socialism’. All boys had to join the Nazi youth organization - Hitler
Youth where they glorified war, aggression and violence, condemned democracy were taught to do
and to hate Jews, Communists, Gypsies and all of them. After a period of rigorous conceptual and
physical training, they were usually drafted into labor service at the age of 18. Then he had to serve
in the armed forces and enter one of the Nazi organizations.

Nazi idea of motherhood

Children in Nazi Germany were repeatedly told that women were fundamentally different from men.
The fight for equal rights for men and women that had become part of democratic struggles
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everywhere was wrong and would destroy society. Girls were told that they had to be good mothers
and raise pure blooded Aryan children. Women were encouraged to have multiple children.

Art of propaganda

The Nazi regime used language and media carefully and took great advantage of them. The media
was carefully used to garner support for the regime and to popularize its worldview. He made people
realize that only Nazis can solve their problems.

Crimes against the general public and humanity

Many saw the world with Nazi eyes, and spoke their mind in Nazi language. When they saw
someone who looked like a Jew, they felt hatred and anger inside them. They actually believed that
Nazism would bring prosperity and improve the general welfare.

Knowledge about the Holocaust - It was only after the war was over that people found out what had
happened. The Jews wanted the world to know about the atrocities and sufferings they had endured
during the Nazi assassination campaigns. They just wanted to live to tell the world about the
Holocaust, even if it was only for a few hours.

IMPORTANT NOTES
Helmuth, was an eleven-year-old German boy who overheard his parent’s discussion on whether the entire
family should be killed or only his father should commit suicide.
Helmuth’s father was a Nazi and supporter of Adolf Hitler.
Nazism did not consist of few isolated acts. It was a structure of ideas about the world and politics.
Goebbels was the propaganda minister of Hitler. They, along with Goebbels’ family committed suicide
collectively in Hitler’s Berlin bunker in April 1945.

BIRTH OF THE WEIMER REPUBLIC: Germany fought the First World War (1914-1918) along with
the Austrian empire and against the Allies (England, France and Russia). Germany initially made gains by
occupying France and Belgium. However, the Allies won defeating Germany and the Central Powers in
1918.

The defeat of Imperial Germany and the abdication of the emperor gave an opportunity to parliamentary
parties to recast German polity. A National Assembly met at Weimer and established a democratic
constitution with a federal structure. The republic, however, was not received well by its own people
largely because of the terms it was forced to accept after Germany’s defeat at the end of the First World
War. Many Germans held the new Weimer Republic responsible for not only the defeat in the war but the
disgrace at Versailles

The peace treaty at Versailles with the Allies was a harsh and humiliating peace. Germany lost its overseas
colonies, a tenth of its population, 13 per cent of its territories, 75 per cent of its iron and 26 per cent of its
coal to France, Poland, Denmark and Lithuania. The Allied Powers demilitarised Germany to weaken its
power. The War Guilt Clause held Germany responsible for the war and damages the Allied countries
suffered. Germany was forced to pay compensation amounting to £6 billion. The Allied armies also
occupied the resource-rich Rhineland for much of the 1920s.

The Effects of the War- The war had a devastating impact on the entire continent both psychologically
and financially. From being a creditor, Europe became a debtor. Unfortunately, the infant Weimar Republic
was being made to pay for the sins of the old empire. The republic carried the burden of war guilt and
national humiliation and was financially crippled by being forced to pay compensation. Those who
supported the Weimar Republic, mainly Socialists, Catholics and Democrats, became easy targets of attack
in the conservative nationalist circles. They were mockingly called the ‘November criminals’. The First
World War left a deep imprint on European society and polity. Soldiers came to be placed above civilians.
Aggressive war propaganda and national honour occupied centre stage in the public sphere, while popular
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support grew for conservative dictatorships that had recently come into being.

Political Radicalism and Economic Crisis — The birth of the Weimer Republic coincided with the
uprising of the Spartacist League on the pattern of the Bolshevik Revolution in Russia. The Spartacists
founded the Communist Party of Germany. The political atmosphere in Berlin was charged with demands
for Soviet-style governance. Those opposed to this — such as the socialists, Democrats and Catholics — met
in Weimar to give shape to the democratic republic. The Weimar Republic crushed the uprising with the
help of a war veterans organisation called Free Corps. Communists and Socialists henceforth became
irreconcilable enemies and could not make common cause against Hitler.

Political radicalization was heightened by the economic crisis of 1923. Germany had fought the war largely
on loans and had to pay war reparations in gold. As Germany refused to pay the war reparations, France
occupied its leading industrial area, Ruhr. Germany retaliated with printing paper currency recklessly. The
value of the German mark collapsed. Prices of goods soared. There was hyperinflation. Eventually, the
Americans intervened and bailed Germany out of the crisis by introducing the Dawes Plan, which
reworked the terms of reparation to ease the financial burden on Germans.

The Years of Depression

1924-1928 saw some stability, yet it was built on sand. In 1924, with the introduction of the Dawes Plan by
the Americans, Germany came out from the financial instability. Germany was totally dependent on short-
term loans, largely from the USA. This support was withdrawn with the crash in 1929 of the Wall Street
Exchange. The German economy was hit badly. The middle class and working population were filled with
the fear of proletarianization.

The Weimer Republic had some inherent defects:

1. The German economy was the worst hit by the economic crisis. By 1932, industrial production was
reduced to 40 per cent of the 1929 level. Workers lost their jobs or were paid reduced wages. The
number of unemployed touched an unprecedented 6 million. On the streets of Germany you could
see men with placards around their necks saying, ‘Willing to do any work’.

The economic crisis created deep anxieties and fears in people. The middle classes, especially
salaried employees and pensioners, saw their savings diminish when the currency lost its value.
Small businessmen, the self-employed and retailers suffered as their businesses got ruined. These
sections of society were filled with the fear of proletarianisation.
Proportional Representation: Politically too the Weimar Republic was fragile. The Weimar
constitution had some inherent defects, which made it unstable and vulnerable to dictatorship. One
was proportional representation. This made achieving a majority by any one party a near impossible
task, leading to a rule by coalitions.

. Another defect was Article 48, Article 48 which gave the President the powers to impose
emergency, suspend civil rights and rule by decree. Within its short life, the Weimar Republic saw
twenty different cabinets.

People lost confidence in the democratic parliamentary system, which seemed to offer no solutions.

Hitler’s Rise to Power

This crisis in the economy, polity and society formed the background to Hitler’s rise to power

Hitler was born in Austria in 1889. He earned many medals for bravery in the First World War.

The German defeat horrified him. The Treaty of Versailles made him furious.

He joined the German Workers Party and renamed it National Socialist Party. This later came to be
known as the Nazi Party.

In 1923, Hitler planned to seize control of Bavaria, march to Berlin and capture power. He failed, was
arrested, tried for treason, and later released. during the Great Depression that Nazism became a mass
movement. As we have seen, after 1929, banks collapsed and businesses shut down, workers lost their jobs
and the middle classes were threatened with destitution. In such a situation Nazi propaganda stirred hopes
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of a better future. In 1928, the Nazi Party got no more than 2. 6 per cent votes in the Reichstag — the
German parliament. By 1932, it had become the largest party with 37 per cent votes. Hitler was a powerful
and effective speaker. . He promised to build a strong nation, undo the injustice of the Versailles Treaty
and restore the dignity of the German people. Hitler devised a new style of politics. He understood the
significance of rituals and spectacle in mass mobilisation. Nazi propaganda skilfully projected Hitler as a
messiah, a saviour, as someone who had arrived to deliver people from their distress.

The Destruction of Democracy

On 30 January 1933, President Hindenburg offered the Chancellorship, the highest position in the cabinet
of ministers, to Hitler. Having acquired power, Hitler set out to dismantle the structures of democratic rule.
The Fire Decree of 28 February 1933 indefinitely suspended civic rights like freedom of speech, press and
assembly that had been guaranteed by the Weimar constitution.

On 3 March 1933, the famous Enabling Act was passed. This Act established dictatorship in Germany. It
gave Hitler all powers to side line Parliament and rule by decree. All political parties and trade unions were
banned except for the Nazi Party and its affiliates. The state established complete control over the
economy, media, army and judiciary.

Special surveillance and security forces were created to control and order society in ways that the Nazis
wanted. Apart from the already existing regular police in green uniform and the SA or the Storm Troopers,
these included the Gestapo (secret state police), the SS (the protection squads), criminal police and the
Security Service (SD).

Reconstruction

Hitler assigned the responsibility of economic recovery to the economist Hjalmar Schacht who aimed at
full production and full employment through a state-funded work-creation programme. This project
produced the famous German superhighways and the people’s car, the Volkswagen. In foreign policy also
Hitler acquired quick successes. He pulled out of the League of Nations in 1933, reoccupied the Rhineland
in 1936, and integrated Austria and Germany in 1938 under the slogan, One people, One empire, and
One leader. He then went on to wrest German speaking Sudetenland from Czechoslovakia, and gobbled
up the entire country.

Hitler chose war as the way out of the approaching economic crisis. Resources were to be accumulated
through expansion of territory. In September 1939, Germany invaded Poland. This started a war with
France and England. In September 1940, a Tripartite Pact was signed between Germany, Italy and Japan,
strengthening Hitler’s claim to international power. Hitler now moved to achieve his long-term aim of
conquering Eastern Europe. He attacked the Soviet Union in June 1941. In this historic blunder Hitler
exposed the German western front to British aerial bombing and the eastern front to the powerful Soviet
armies. The Soviet Red Army inflicted a crushing and humiliating defeat on Germany at Stalingrad. When
Japan extended its support to Hitler and bombed the US base at Pearl Harbor, the US entered the Second
World War. The war ended in May 1945 with Hitler’s defeat and the US dropping of the atom bomb on
Hiroshima in Japan.

The Nazi Worldview

Nazi ideology was synonymous with Hitler’s worldview. According to this there was no equality between
people, but only a racial hierarchy. In this view blond, blue-eyed, Nordic German Aryans were at the top,
while Jews were located at the lowest rung. They came to be regarded as an anti-race, the arch-enemies of
the Aryans. Hitler’s racism borrowed from thinkers like Charles Darwin and Herbert Spencer. Darwin
never advocated human intervention in what he thought was a purely natural process of selection.
However, his ideas were used by racist thinkers and politicians to justify imperial rule over conquered
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peoples. The Nazi argument was simple: the strongest race would survive and the weak ones would perish.
The Aryan race was the finest.

The other aspect of Hitler’s ideology related to the geopolitical concept of Lebensraum, or living space.
He believed that new territories had to be acquired for settlement. This would enhance the area of the
mother country, while enabling the settlers on new lands to retain an intimate link with the place of their
origin. It would also enhance the material resources and power of the German nation.

Establishment of the Racial State

Nazis quickly began to implement their dream of creating an exclusive racial community of pure Germans
by physically eliminating all those who were seen as ‘undesirable’ in the extended empire. Nazis wanted
only a society of ‘pure and healthy Nordic Aryans’. They alone were considered ‘desirable’. Only they
were seen as worthy of prospering and multiplying against all others who were classed as ‘undesirable’.
This meant that even those Germans who were seen as impure or abnormal had no right to exist. Under the
Euthanasia Programme, Nazi officials had condemned to death many Germans who were considered
mentally or physically unfit.

Jews were not the only community classified as ‘undesirable’. There were others. Many Gypsies and
blacks living in Nazi Germany were considered as racial ‘inferiors’ who threatened the biological purity of
the ‘superior Aryan’ race. They were widely persecuted. Jews remained the worst sufferers in Nazi
Germany. Nazi hatred of Jews had a precursor in the traditional Christian hostility towards Jews. They had
been stereotyped as killers of Christ and usurers. Until medieval times Jews were barred from owning land.
They survived mainly through trade and moneylending. They lived in separately marked areas called
ghettos.

The Racial Utopia

Genocide and war became two sides of the same coin. Occupied Poland was divided. Poles were forced to
leave their homes and properties behind to be occupied by the ethnic Germans brought in from occupied
Europe.

Youth in Nazi Germany

Hitler felt that a strong Nazi society could be established by teaching Nazi ideology to children. All schools
were given German teachers. Children were divided into two groups- desirable and undesirable. Textbooks
were rewritten, functions of sports in schools was to nurture the spirit of violence and aggression.

Youth organisations were made responsible for educating German youth in the ‘the spirit of National
Socialism’. Ten-year-olds had to enter Jungvolk. At 14, all boys had to join the Nazi youth organisation —
Hitler Youth — where they learnt to worship war, glorify aggression and violence, condemn democracy, and
hate Jews, communists, Gypsies and all those categorised as ‘undesirable’. After a period of rigorous
ideological and physical training they joined the Labour Service, usually at the age of 18. Then they had to
serve in the armed forces and enter one of the Nazi organisations. The Youth League of the Nazis was
founded in 1922. Four years later it was renamed Hitler Youth.

The Nazi Cult of Motherhood

Children in Nazi Germany were repeatedly told that women were radically different from men. The fight
for equal rights for men and women that had become part of democratic struggles everywhere was wrong
and it would destroy society. While boys were taught to be aggressive, masculine and steel hearted, girls
were told that they had to become good mothers and rear pure-blooded Aryan children. Girls had to
maintain the purity of the race, distance themselves from Jews, look after the home, and teach their




children Nazi values. They had to be the bearers of the Aryan culture and race.

Women were told to be good mothers and rear pure-blooded Aryan children. They were encouraged to
produce many children. Women who bore racially undesirable children were punished and those who
produced racially desirable children were awarded. They were given favoured treatment in hospitals and
were also entitled to concessions in shops and on theatre tickets and railway fares. To encourage women to
produce many children, Honour Crosses were awarded. A bronze cross was given for four children, silver
for six and gold for eight or more.

The Art of Propaganda The
Nazi regime used language and media with care, and often to great effect. Nazis never used the words ‘kill’
or ‘murder’ in their official communications. Mass killings were termed special treatment, final solution
(for the Jews), euthanasia (for the disabled), selection and disinfections. ‘Evacuation” meant deporting
people to gas chambers. Media was carefully used to win support for the regime and popularise its
worldview. Nazi ideas were spread through visual images, films, radio, posters, catchy slogans and leaflets.
In posters, groups identified as the ‘enemies’ of Germans were stereotyped, mocked, abused and described
as evil. Socialists and liberals were represented as weak and degenerate.

Ordinary People and the Crimes Against Humanity

Many saw the world through Nazi eyes, and spoke their mind in Nazi language. They felt hatred and anger
surge inside them when they saw someone who looked like a Jew. They marked the houses of Jews and
reported suspicious neighbours. They genuinely believed Nazism would bring prosperity and improve
general well-being. At times even the Jews began to believe in the Nazi stereotypes about them.

Knowledge about the Holocaust —It was only after the war ended that people came to know about what
had happened. The Jews wanted the world to know about the atrocities and sufferings they had endured
during the Nazi killing operations. They just wanted to live, even if it was for a few hours, to tell the world

about the Holocaust.
Very Short Answer Type Questions

Q1.Who was Helmuth?
Ans: Helmuth, was an eleven-year-old German boy who overheard his parent’s discussion on whether the
entire family should be killed or only his father should commit suicide.

Q2.Who was Helmuth’s father?
Ans: Helmuth’s father was a Nazi and supporter of Adolf Hitler.

Q3. ‘Nazism was a system.’ Explain.
Ans: Nazism did not consist of few isolated acts. It was a structure of ideas about the world and politics.

Q4.Who was Goebbels? How did Hitler and Goebbels meet their end?
Ans: Goebbels was the propaganda minister of Hitler. They, along with Goebbels’ family committed
suicide collectively in Hitler’s Berlin bunker in April 1945.

Q5.Name the countries which formed the Axis Powers during the Second World War.
Ans: Germany, Italy and Japan formed the Axis Powers.

Q6.Explain ‘genocidal war’.
Ans: Genocidal war means Killing on large scale, leading to elimination of large section of people.




Q7.Name the countries which formed the Allied powers.
Ans: At the beginning of the second world war, Allied powers were led by U.K. and France. In 1941 they
were joined by USSR and USA.

Q8.What was the result of First World War for Germany?
Ans: Germany and the central powers were defeated in November 1918. Germany had to sign the
humiliating Treaty of Versailles.

Q9.Name the peace treaty signed by Germany with the Allies at the end of the First World War.
Ans: The Treaty of Versailles was signed between Germany and the Allied Powers at the end of the war.

Q10.What was the War Guilt clause in the Treaty of Versailles?
Ans: The War Guilt clause, in the Treaty of Versailles held Germany responsible for the War and damages
suffered by the Allied Powers.

Q11.Who were mockingly called the ‘November criminals’?
Ans: Socialists, Catholics and Democrats were called the ‘November Criminals’.

Q12. ‘The media glorified trench life’. What was the actual truth about trench life?
Ans: Although the media glorified trench life, the soldiers lived a miserable life, trapped with rats feeding
on corpses. They faced poisonous gas and enemy shelling.

Q13.Who founded the Communist Party of Germany?
Ans: The Spartacists founded the Communist Party of Germany.

Q14.Mention the reason for economic crises in 1923.
Ans: Germany depended largely on loans for fighting in wars and for this they had to pay war reparations
in gold.

Q15.What steps were taken by the French when Germany refused to pay its gold reserves in 1923?
Ans: French occupied its leading industrial area, Ruhr, to claim their coal when Germany refused to pay its
reparation payment in 1923.

Q16.Why did USA introduce the Dawes Plan?

Ans: Germany did not pay reparation payments to France, which occupied Ruhr. Germany resisted and
printed paper currency. The value of German mark gradually fell. The Americans intervened and
introduced the Dawes Plan, which reworked the terms of reparation payment to ease the financial burden
on Germany.

Q17.What is Wall Street Exchange?
Ans: It is the name of the world’s biggest stock exchange. It is located in USA.

Q18.Small businessmen, self-employed and retailers were filled with the fear of proletarianisation’.
Explain ‘proletarianisation’.
Ans:lt is a fear of being reduced to the ranks of the working class or be unemployed.

Q19.What is proportional representation?
Ans: It is an electoral system in which each political group gains a number of seats in the legislature that is
in proportion to the number of votes it wins.




Q20. What was Article 48 in the Weimar constitution?
Ans: Article 48 in the Weimar constitution gave the President the powers to impose emergency, suspend
civil rights and rule by decree.

Q21.What was the War Guilt clause in the Treaty of Versailles?
Ans: The War Guilt clause, in the Treaty of Versailles held Germany responsible for the War and damages
suffered by the Allied Powers.

Q22. What is proportional representation?
Ans: It is an electoral system in which each political group gains a number of seats in the legislature that is
in proportion to the number of votes it wins.

Q23.What was Article 48 in the Weimar constitution?
Ans: Article 48 in the Weimar constitution gave the President the powers to impose emergency, suspend
civil rights and rule by decree.

Q24. How did Nazism become a mass movement?
Ans: During the Great Depression, Nazism became a mass movement because Nazi propaganda gave hopes
of a better future. By 1932 it become the largest party with 37 per cent votes.

Q25. What was the Fire Decree of 28 February 1933?
Ans: The Fire Decree of 28 February 1933 suspended civic rights like freedom of speech, press and
assembly for an indefinite period, which were guaranteed under the Weimar constitution.

Q26. What was the Enabling Act (3 March 1933)?
Ans: The Enabling Act, passed on 3 March 1933, established dictatorship in Germany. It gave Hitler all
powers to rule by decree and without the consent of the Parliament.

Q28. What was ‘Gestapo’?
Ans: Gestapo was the secret state police. People could be detained in Gestapo torture chambers and then
sent to concentration camps, deported at will or arrested without any legal procedures.

Q29. Name the country occupied by Germany under the’ slogan ‘One people, One Empire and One
Leader’.
Ans: Under the above slogan Austria and Germany integrated in 1938 by Hilter.

Q30.How did the Second World War start?
Ans: In September, Germany invaded Poland. This started the war with England and France.

Q31.Why did Hitler conquer Eastern Europe?
Ans: Hitler conquered Eastern Europe because he wanted to ensure food supply and living space for
Germans.

Q32.Why was the attack on Soviet Union, a historic blunder?
Ans: The attack on Soviet Union in June 1941 was a historic blunder because it exposed German western
front to British aerial bombing and the eastern front to the powerful Soviet armies.

Q33. Why did USA enter the Second World War?
Ans: Japan was expanding its power in the east and had captured French Indo-China and was planning
attacks on US naval bases in the Pacific. When Japan attacked the US base at Pearl Harbour, the US
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entered the Second World War.

Q34. What was Hitler’s worldview?
Ans: Hitler’s worldview was synonymous with Nazi ideology According to this ideology, there was no
equality between people but only a racial hierarchy.

Q35. Name two thinkers who influenced the racial ideology of Hitler.
Ans: The two thinkers were Charles Darwin and Herbert Spencer.

Q36. Explain ‘Lebensraum’.
Ans:‘Lebensraum’ or living space. Hitler believed that new territories had to be acquired for settlement.

Q37. How did Hitler’s ideology was related to the geopolitical concept of ‘Lebensraum’ or living
space?

Ans: Hitler believed that new territories would increase the area of mother country. It would increase the
material resources and power of the German nation.

Q38. Mention the reason for Nazi hatred for Jews.
Ans: The Nazi hatred had a precursor in the traditional Christian hostility. Jews had been stereotyped as
killers of Christ and usurers.

Q39. What is a ghetto?
Ans: It was a part of the city, where the Jews lived eg. Lodz and Warsaw. It became a site of extreme
misery and poverty.

Q40. What were the Honour crosses awarded to the mothers?
Ans: To encourage German women to produce more children, they were given Honour awards—bronze
cross was given for four children, a silver cross for six and gold for eight or more children.

Q41. What was mass killing? For whom were the words final solution used?
Ans: It was termed as special treatment. Final solution was used for the Jews.

Q42. What were disinfection areas?
Ans: The gas chambers were called disinfection areas. They looked like bathrooms fitted with fake
showerheads.

Q43. What did the term evacuation mean?
Ans: It meant taking people to the gas chambers.

Q44. What was Holocaust?
Ans: The Nazi killing operations were called Holocaust.

SHORT ANSWERS TYPE QUESTIONS

Q1. How was the German economy hit by the Great Depression?

Ans: (i) The German economy was badly hit by the Great Depression. By 1932, industrial production was

reduced to 40 percent of the 1929 level. (if) Workers

lost their jobs or were paid reduced wages. The number of unemployed grew. Unemployed youths played

cards or simply sat at street corners, or desperately queued up at the local employment exchange.

(iii) The economic crisis created deep anxieties and fears in people. Small businessmen, the self- employed
27




and retailers suffered as their business got ruined. These sections of society were reduced to the level of
working classes. The large mass of peasantry was equally distressed.

Q2.State the verdict of the Nuremberg Tribunal. Why did the Allies avoid harsh punishment to Germany?
AnS: The Nuremberg Tribunal convicted Germany and dubbed its conduct during war as crime against
humanity. The allies avoided harsh punishment to Germany because of the following reasons.

(a) They did not want to repeat the mistakes done after First World War by being harsh to Germany that
gave rise to the ideology of Nazism under Hitler.

(b) They were conscious about another destructive war that could erase humanity.

Q3. What do you know about the genocidal war, waged by Germany under the shadow of the Second
World War?

Ans: (i) Germany waged a genocidal war (killing on large scale) under the shadow of the Second World
War. It resulted in the mass murder of selected groups of innocent civilians of Europe.

(if) The numbers of people killed included 6 million Jews, 200,000 Gypsies, 1 million Polish civilians,
70,000 Germans who were considered mentally and physically disabled, besides innumerable political
opponents. (ii1) Nazis devised
an unprecedented means of killing people, that is, by gassing them in various killing centres like
Auschwitz.

Q4.‘The Peace treaty at Versailles with the Allies was a harsh and humiliating peace’. Explain.
AnNS: The terms that Germany was forced to accept after its defeat at the end of the First World War were
too harsh and humiliating:

Germany had to lose its overseas colonies, a tenth of its population, 13 percent of its territories, 7 percent
of its iron and 26 percent of its coal to France, Poland, Denmark and Lithuania.

The Allied Powers demilitarised Germany to weaken its powers. The war Guilt Clause held Germany
responsible for the war and damages the Allied countries suffered.

Germany was made to pay compensation amounting 6 billion. The Allied armies also occupied the
resource rich Rhineland for much of the 1920s. Thus, Germany had to face disgrace at Versailles.

Q5. State three ways in which Nazi state established total control over its people.

Ans: The Nazi state established total control over its people by the following ways.

(a) The Enabling Act 1933 established dictatorship in Germany. All trade unions and political parties were
banned except for the Nazi Party.

(b) The state established total control over the economy, media, army and judiciary.

(c) Special surveillance and security forces were created to control society in the ways that Nazis Wanted.

Q6. ‘By the end of 1940, Hitler was at the pinnacle of his power.” Explain the statement with examples.
Ans: (a) In foreign policy, Hitler acquired quick successes. He left the League of Nations, reoccupied
Rhineland, annexed Austria, took German-speaking Sudetenland from Czechoslovakia and finally the
whole country.

(b) In September 1939, Germany invaded Poland. It started the war with England and France. Puppet
governments who supported Hitler were set up in many parts of Europe.

(c) In September 1940, Hitler signed a Tripartite pact with Italy and Japan to strengthen his claim to
international power.

Q7. How was the Weimar Republic politically fragile?

Ans: .The Weimar Constitution had some inherent defects, which made it unstable and vulnerable to
dictatorship.

One was proportional representation. This made achieving a majority by any one party a near impossible
task, leading to a rule by coalitions.

Another defect was Article 48, which gave the president the powers to impose emergency, suspend civil
rights and rule by decree.

. Within its short life, The Weimar Republic saw twenty different cabinets lasting on an average 239 days,
and a liberal use of Article 48. Yet the crisis could not be managed.
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Q8.“The First World War left a deep imprint on the European society and polity’. Give examples to
support the statement.

Ans: The following examples can be given in support of the above statement.

(1) Soldiers came to be placed above civilians. Politicians and publicists laid great stress on the need for
men to be aggressive, strong and masculine.

(if) The media glorified trench life. The truth, however was that soldiers lived miserable lives in these
trenches, trapped with rats feeding on corpse. They faced poisonous gas and enemy shelling, and witnessed
their ranks reduce rapidly.

(iii) Aggressive war propaganda and national honour occupied centre stage in the public sphere, while
popular support grew for conservative dictatorship that had recently came into being. Democracy could not
survive in such circumstances.

Q9. How was Nazi ideology taught to the youth in Germany? Explain.

Ans: (a) Nazi ideology was taught to the youth in school. School textbooks were rewritten. These books
justified Nazi ideas of racism. Hitler believed that boxing could make children iron-hearted, strong and
masculine.

(b) Youth organisations like Jangvolk, Hitler Youth, Youth league and Labour Services were made
responsible for educating German youth in the spirit National socialism or Nazism.

(c) The German mothers had to teach Nazi values to their children.

Q10. Describe what you know about Nazis’ art of propaganda.
Ans:

Nazi ideas were spread through visual images, films, radio, posters, catchy slogans and leaflets.
Propaganda films were made to create hatred for Jews. The most infamous films was the Eternal
Jew in which orthodox Jews were stereotyped and marked.

They were shown with flowing breads wearing kaftans. They were referred to as vermin, rats and
pests. Their movements were compared to those of rodents.

Orthodox Jews were also stereotyped as killers of Christ and moneylenders. Stereotypes about Jews
were even popularised through maths classes. Children were taught to hate Jews.

Nazi propaganda was so effective that a large section of people began to see the world through Nazi
eyes, and speak their mined is Nazi language. They felt hatred and anger surge inside them when
they saw someone who looked like a Jew.

Q11 Whom did Hitler assign the responsibility of economic recovery in Germany? Why was he
removed?

Or

How did Hitler reconstruct Germany?

Ans: (i) Hitler assigned the economist Hjalmar Schacht. Schacht aimed at full production and full
employment through a state-funded work-creation programme. This project produced the famous German
superhighways and the people’s car, the Volkswagen.

(i) Hitler also pulled out of the League of Nations in 1933, reoccupied the Rhineland in 1936 and
integrated Austria and Germany in 1938. Then he took the country of Czechoslovakia.

(1i1) Hitler’s hung for more success and fame, corrupted his mind and soul so much so that he could never
distinguish between right and wrong. Schacht advised him against investing hugely in rearmament as the
state still ran on deficit financing. Hitler did not like such cautious people and immediately removed him.

Q12What were the promises made by Hitler to the people of Germany?
Ans: Hitler made several promises to the people of Germany:




.He promised to build a strong nation, undo the injustice of the Versailles Treaty and restore the dignity of
the German people.

. He promised employment for those looking for work, and a secure future for the youth.

. He promised to end all foreign influences and resist all foreign ‘conspiracies’ against their nation.

Q13 How did Hitler mobilise the German people?

Ans: (i) Hitler mobilised the German people by dint of his powerful oratory. His passion and his words
moved the Germans. He made many promises to them which included restoration of their dignity,
employment for those looking for work, etc.

(if) He understood the significance of rituals and spectacle in mass mobilisation. Nazis held massive rallies,
public meetings to demonstrate the support for Hitler and instil a sense of unity among the people.

(i) Nazi propaganda skill fully projected Hitler as a messiah, a saviour, as someone who had arrived to
deliver people from their miseries. It is an image that captured the imagination of a people whose sense of
dignity and pride had been shattered, and who were living in a time of acute economic and political crisis.

Q14 How were Jews treated in Nazi Germany?

Or

What fate did Jews meet in Nazi Germany?

Ans: Jews were treated very ruthlessly in Nazi Germany. Of all the communities Jews were the worst
sufferers. Hilter wanted to eliminate them totally. He did this in several steps:

(1) From 1933 to 1938 the Nazis terrorised, pauperised and segregated the Jews, compelling them to leave
the country. Jewish properties were vandalised and looted, houses attacked, synagogues burnt and men
arrested in a pogrom in November 1938.

(if) From September 1941, They were Kept in Jewish houses in Germany, and in ghettos. Jews were made
to surrender all their wealth before they entered a ghetto. Soon the ghettos were brimming with hunger,
starvation and disease due to deprivation and poor hygiene.

(i) From 1941 to 1945, Jews were concentrated in certain areas and thereafter charred in gas-chambers in
Poland. Mass killings took place within minutes with scientific precision.

Q15 Describe the events which happened in 1945 when Germany surrendered to Allies.

Ans: (a) In May 1945 Germany surrendered to the Allies. Hitler and his propaganda minister Goebbels and
his family committed suicide in his Berlin bunker.

(b) As the Allied armies overran the areas, occupied by Nazi Germany, they came across many
concentration camps where people were on the last stage of their life.

(c) When the war seemed lost, the Nazi leaders distributed petrol to their subordinates to destroy all
evidences available in the offices.

LONG ANSWERS TYPE QUESTIONS

Q1 What steps were taken by Adolf Hitler for the destruction of democracy ?
Ans: The following steps were taken by Hitler for the destruction of democracy :

e A mysterious fire that broke out in the German Parliament building in February, 1933 indefinitely
suspended civic rights. It is said that the fire was broken out by Hitler’s supporters, while Hitler
blamed his political enemies for it. The Fire Decree of 28 February, 1933 indefinitely suspended
civic rights such as freedom of expression, speech, press and assembly that had been guaranteed by
the Weimar Constitution.

After that Adolf Hitler turned on his enemy, i.e., the Communists of Germany, most ° of the
communists were quickly packed off to the newly established concentration camps.

The repression of the Communists was severe. Their membership was in thousands. They were,
however, only one among the 52 types of victims persecuted by the Nazis across the country.




e On 3rd March, 1933, the famous Enabling Act was passed. This Act established dictatorship in
Germany. It gave Adolf Hitler all political and administrative powers to side line German Parliament
and rule by decree.

Q2 What was the impact of First World War on European and German society?

Ans: The First World War left a deep impact on European and German society and polity.

(a) Financially, Europe which was a continent of creditors turned into one of debtors.

(b) Soldiers were placed above civilians. Politicians and publicists wanted men to be aggressive, strong and
masculine. Aggressive propaganda was carried out.

(c) Democracy which was a new idea could not survive during interwar Europe.

(d) The Weimar Republic, formed in Germany after the war, had to accept war guilt and national
humiliation. It had to make reparation payments which made Germany financially crippled.

(e) Media glorified trench life against the truth in which soldiers were leading a miserable life.

Q3 What was the economic crisis of 19237 How did it affect Germany?

Ans: (a) Germany had fought the war largely on loans and had to make reparation payments in gold. This
depleted gold reserves and resources were scarce.

(b) In 1923 Germany refused to pay, and the French retaliated by occupying the Ruhr, to claim their coal.
Germany protested and printed paper currency. With too much money in circulation, the value of German
mark fell. In April, the US dollar was equal to 24000 marks, in July 353,000 marks, in August 4621,000
marks. By December figure had run into trillion. As the value of the mark declined the prices of goods
started rising. This crisis came to be known as hyperinflation.

Q4 Highlight the five events of 1933 that led to the destruction of democracy in Germany.

(Or)

Explain any five features of political policy adopted by Hitler after coming to power in 1933.

Or

How was democracy destroyed in Germany?

Ans: The events of 1933 that led to the destruction of democracy in Germany are as follows.

(@) On 30 January 1933 President Hindenburg gave the Chancellorship, the highest position in cabinet to
Hitler. Hitler now tried to dismantle the structure of democratic rule.

(b) A mysterious fire broke out in German Parliament which facilitated his move.

(c) The Fire Decree of 27 February 1933 indefinitely suspended civic rights like freedom of speech, press
and assembly that had been granted by the Weimar republic.

(d) Communists, who were the enemies of Hitler were sent to the concentration camps.

(e) On 3 March, Enabling Act was passed. It established dictatorship in Germany. Hitler

could rule without the consent of the parliament. All political parties and trade unions were banned except
the Nazi Party. The state had full control over media, army and judiciary.

Q5 How did the Nazis proceed to realise their murderous racial ideology by eliminating the
‘undesirables’? Explain.

Ans: The Nazis proceeded to realise their murderous racial ideology by eliminating the undesirables in the
following manner.

(a) Jews remained the worst sufferers in Nazi Germany. From 1933-1938 Jewish business was boycotted,
they were expelled from government services and their property was confiscated. From 1939-1945 the
Jews were kept in ghettos, in extreme poverty and misery and eventually they were killed in gas chambers.
(b) Germany occupied the north-western Poland. Poles were forced to leave their homes and property, to be
occupied by ethnic Germans. Poles were then sent to the final destination of the ‘undesirables’.

(c) Members of Polish intelligentsia were murdered in large number in order to keep the entire people
intellectually servile.

(d) Polish children who looked like Aryans were forcibly snatched and examined by race experts. If they
passed the test, they were raised in German families and if not they were sent to orphanages, most of them
died.

(e) Poland had some of the largest ghettos and gas chambers where Jews were killed.




Q6 How was Nazi Germany’s Art of Propaganda responsible for establishing total control over its
people?

Ans: Nazi Germany’s Art of Propaganda was responsible for establishing total control over its people in the
following ways.

(a) Hitler was skill fully projected as a messiah, a saviour and someone who could deliver Germans from
their distress.

(b) Language and media were used with great care to win support for the rule and popularise it worldview.
Visual images, propaganda films, posters, catchy slogans, leaflets, etc. were used to spread Nazi ideas.

(c) People’s minds were worked, their emotions were tapped and their hatred and anger was turned towards
the so-called ‘undesirables’.

(d) Equal efforts were made to appeal all sections of the population and win their support by suggesting
that only Nazis could solve their problems and give a dignified place to live in.

(e) The education curriculum was also crafted in a way that highlighted the supremacy of Nazi ideology.
Stereotypes about the Jews were popularised through subjects like mathematics and children were taught to
hate Jews.

Q7 Mention five consequences of Nazism in Germany. [CBSE 2014]

Ans: The consequences of Nazism in Germany were:

(a) Weimar Republic came to an end. Under Nazism, Germany became a dictatorial state, democracy was
destroyed.

(b) Hitler assigned the responsibility of economic recovery to the economist Hjalmar Schacht. He aimed at
full production and full employment through state-funded work-creation programme. This project produced
the famous German highways and peoples car Volkswagen.

(c) In foreign policy, Germany left the League of Nations in 1933, reoccupied Rhineland in 1936, annexed
Austria in 1938. He then took Sudetenland, a part of Czechoslovakia and finally took the whole country.
(d) Special surveillance and security forces were created to control and order society in ways Nazi wanted.
(e) He believed in the survival of the fittest and established an exclusive racial community of pure Aryans.

Q8 What did Hitler do to overcome the economic crisis that badly hit the German economy ?

Ans: After establishing his dictatorship in Germany, he took major steps towards the economic
reconstruction.

Hitler assigned the responsibility of economic recovery to the economist Hjalmar Schacht who aimed at
full production and full employment through a state-funded work-creation programme.

In foreign policy also, Hitler acquired quick successes. He pulled out of the League of Nations in 1933,
reoccupied the Rhineland in 1936, and integrated Austria and Germany in 1938 under the slogan, One
people, One empire, and One leader. He then went on to wrest
German speaking Sudetenland from Czechoslovakia and gobbled up the entire country. In all of this he had
the unspoken support of England, which had considered the Versailles verdict too harsh. These quick
successes at home and abroad seemed to reverse the destiny of the country.

Hitler chose war as the way out of the approaching economic crisis. Resources were to be accumulated
through expansion of territory. In September 1939, Germany invaded Poland. This started a war with
France and England. In September 1940, a Tripartite Pact was signed between Germany, Italy and Japan,
strengthening Hitler’s claim to international power. Hitler now moved to achieve his long-term
aim of conquering Eastern Europe. He wanted to ensure food supplies and living space for Germans. He
attacked the Soviet Union in June 1941. In this historic blunder Hitler exposed the German western front to
British aerial bombing and the eastern front to the powerful Soviet armies.

VALUE BASED QUESTION

Q1 Describe the problems faced by the Weimer Republic.

Ans: The problems faced by the Weimar Republic were:

Versailles treaty: The Versailles Peace Treaty at the end of the First World War dispossessed Germany of
its territories, its resources and its pride as a nation. He also had to pay 6 billion pounds as war

compensation. In spite of the harsh terms, the Weimar Republic accepted the humiliating treaty, thereby
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making it unpopular amongst the German masses.

Economic Crisis: The German state was financially crippled due to overwhelming war debts which had to
be paid in gold. Subsequently god reserves depleted and value of German mark fell. Prices of essential
goods rose dramatically.

Political defects: The Weimar Republic was weak due to inherent constitutional irregularities such as
proportional representation and Article 48 (which gave the President the power to impose emergency and
rule by decree). The democratic parliamentary system seemed to give the people no solutions or benefits in
the times of the severe economic crisis.

Q2 Discuss why Nazism became popular in Germany by 1930.
Ans: Nazism became popular in Germany by 1930 in the following manner.

1. The crisis in the economy, politics and society led to the rise of Hitler. He joined the German
Workers’ party in 1919 and took its organisation. He renamed it the National Socialist German
Workers’ Party. It came to be known as the Nazi Party.

Nazism became a mass movement during the Great Depression. After 1929 banks closed, workers
lost their jobs and the middle class was threatened with poverty. Nazi propaganda gave hope of a
better future. By 1932, the Nazi Party became the largest party in the Reichstag with 37 percent
votes.

Hitler was a powerful speaker. He could draw the attention of the people. He promised to build
Germany into a strong nation, wipe out the humiliation of the Treaty of Versailles and restore the
dignity of the Germans. He promised employment and better future for the youth.

He understood the importance of show-biz. Massive rallies were held where he addressed the SA and
SS columns. Public meetings were held to show support for Hitler and in still unity among the
people.

The red banners with the Swastika, Nazi salute, the ritualised round of applause were part of all
meetings. Hitler was projected as a saviour, who would end all misery and restore the dignity of
Germany and the German people.

Q3Briefly describe the role of International Military Tribunal set up after the second world war.
Ans: The Weimar Constitution had three inherent defects, which are as follows

(i) It was based on proportional representation, which made achieving a majority by one party virtually impossible.
Only coalition governments ruled.

(i1) Existence of Article 48 in the Constitution, which gave the President the power to impose emergency, suspend
civil rights and rule by decree.

(i) Due to 20 different coalition governments being formed, people lost confidence in the democratic parliamentary
system, as it offered no solutions to their problems.

Q4 By the end of 1940 hitler was at the pinnacle of his power **justify

Ans: Destruction of Democracy: Hitler became the Chancellor of Germany on 30th January 1933. He
indefinitely suspended civic rights like freedom of speech, press and assembly. Then he turned his attention
to concentration camps set up for communists.

Enabling Act: This Act established dictatorship in Germany. It gave Hitler all powers to establish his rule.
He banned all other political parties and trade unions.

Security Forces: Special security forces were created to control and order society in ways that the Nazis
wanted. People could now be detained in Gestapo torture chambers, sent to concentration camps or arrested
without any legal procedures.

Foreign Policy: Hitler first of all pulled his country out of the League of Nations. He reoccupied Rhineland
area and integrated his country. Then he occupied Sudetenland from Czechoslovakia and and later gobbled
up the whole country.




Map Skills

Q- Seven features are marked on the outline map of world. ldentify these features with the help of
following information and write their correct names.

A. Axis powers
B. Allied Powers

WORLD - POLITICAL

A. Axis powers: A. Germany, B. Italy, C. Japan
B. Allied Powers: D. UK, E. France, F. Former USSR, G. USA.




Q.Locate and label the following territories under German expansion (Nazi Power).
(a) Austria

(b) Poland

(c) Slovakia

(d) Denmark

(e) Lithuania

(f) France

(9) Belgium.
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7 Major countries of First World War
D Central Powers: 1. Germany 2. Austria 3. Mumgary 4. Turkey
" ) Atied Powers: 1.England 2. France 3.Russia 4. America
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ECONOMICS
(POVERTY AS CHALLENGE)

e Gist of the Chapter:

Poverty: Usually the levels of income and consumption are used to define poverty. In India, poverty can be
defined as the lack of common things like food, clothing and shelter, safe drinking water, medical care and
education, which determine quality of life. Poverty has both dimensions economic and social. Now poverty
is looked through other social indicators like illiteracy level, lack of access to health care, lack of job
opportunities, lack of access to safe drinking water, sanitation, etc. Nowadays, the concept of social
exclusion is becoming very common in the analysis of poverty. Social exclusion means, generally poor are
excluded in the community of better off people. Vulnerability describes the greater probability of certain
communities or individuals of becoming, or remaining, poor in the coming years. The people from
backward cast, individuals like widows, physically handicapped are more vulnerable. They possess greater
risks at the time of natural disasters. Poverty Line is based on the income or consumption level. A person is
considered poor if his or her income or consumption level falls below a given ‘'minimum level' necessary to
satisfy basic needs. Poverty line varies with time place. The poverty line is estimated periodically by




conducting sample surveys by National Sample Survey Organization (NSSO). Social groups which are
most vulnerable to poverty are Scheduled Caste and Scheduled Tribe households. In poor families, old
people, women and female children are denied equal access to family’s available resources. They are the
poorest of the poor.

The proportion of poor people is not the same in every state. In 20 states and union territories the poverty
ratio is less than the national average. Orissa and Bihar are the poorest states of India with poverty ratios of
47 per cent and 43 per cent respectively. Lowest incidence of poverty is found in Jammu and Kashmir with
poverty ratio of just 3.5 per cent. There has been substantial decline in global poverty. However, it is
marked with great regional differences. World Bank has defined poverty as the people earning less than
1.25 $ per day.

There are a number of causes for the widespread poverty in India - The low level of economic development
under the British colonial administration, rapid growth of population, the unequal distribution of land and
other resources, etc. Our government’s strategy to poverty reduction has been twofold. One, promotion of
economic growth and, two, targeted poverty alleviation programmes.

Though poverty has declined in India, poverty reduction remains India’s most compelling challenge. We
will have to do something special to fight against wide regional disparities. We must broaden the definition
of poverty from ‘a minimum subsistence level of living to a reasonable level of living’.

Notes of the Chapter:

Poverty is a condition in which a person lacks the financial resources and essentials things to enjoy
minimum standards of life. Poor people can be landless labourers in villages, jhuggi and slum dwellers in
cities and towns, daily wage workers at construction sites, child , workers in dhabas or even beggars.

Two Typical Cases of Poverty

(i) Urban Case

Ram Saran is a daily wage labourer in a flour mill near Ranchi in Jharkhand. He earns around Rs.
1500 per month when employed. He supports his family of 6 persons, besides sending some money to his
elderly parents. His wife and son also work, but none of his 4 children can attend school. The family
lives in a one-room rented house on the outer areas of the city; The children are undernourished, have
very few clothes or footwear and no access to healthcare.

(i1) Rural Case

Lakha Singh is a landless labourer in a small village near Meerut in Uttar Pradesh. By doing odd jobs
for farmers, he earns Rs. 50 per day. Sometimes, he gets some foodgrain or other items instead of cash.
He is not literate and his family of 8 people lives in a kuchha hut near the edge of the village. They have
no access to healthcare, cannot afford new clothes or even soap or oil.

Poverty as seen by social scientists

Social scientists measure poverty using many indicators like the levels of income and consumption,
illiteracy level, lack of general resistance due to malnutrition, lack of access to healthcare, lack of job
opportunities, lack of access to safe drinking water, sanitation.

Indicators for Poverty —

Social exclusion
Social exclusion is a process in which poor people are barred from enjoying certain basic facilities,
benefits and opportunities that the rich enjoy.

Vulnerability

Vulnerability describes the increasing probability of certain backward communities or individuals of
becoming of remaining poor in coming years.

Poverty Line




Poverty line is an imaginary line used by any country to determine its poverty. It is considered
appropriate by a country according to its existing social norms. It varies from time to time, place to place
and country to country. A person is considered poor if his or her income or consumption level falls
below a given ‘minimum level’ necessary to satisfy basic needs.

For the year 2009-10, the poverty line for a person was fixed at Rs.673 per month for rural area and Rs.
860 for the urban areas.

The poverty line is estimated periodically by conducting sample surveys by National Sample Survey Organisation
(NSSO).

Poverty Line Estimation in India

In India, a subsistence level or minimum level of food requirement (as determined by its calorific value),
clothing, footwear, fuel, lighting, -educational and medical requirements, etc are determined for
estimating the poverty line. Since in rural and urban areas, the nature of work and the prices of goods
are different, the calorific requirement and expenditure per capita are also different. The incidence of
poverty in India was around 55 per cent in 1973 which declined to 36 per cent in 1993 and further to 26
per cent in 2000.

Vulnerable Group

Poverty among social groups and economic categories varies widely in India. Social vulnerable groups
are the households of the Scheduled Castes (SCs) and Scheduled Tribes (STs). Economically vulnerable
groups comprise rural landless labour households and urban casual labour households.

However, during the last few years, all these groups except the Scheduled Tribes group, have witnessed
a decline in poverty.

Inter-State Disparities:

The proportion of poor people is not the same in every state. In 20 states and union territories the
poverty ratio is less than the national average. Orissa and Bihar are the poorest states of India with
poverty ratios of 47 per cent and 43 per cent respectively. Lowest incidence of poverty is found in Jammu
and Kashmir with poverty ratio of just 3.5 per cent.

Global Poverty Scenario:

There has been substantial decline in global poverty. However, it is marked with great regional differences.
Poverty has declined more in China and South-East Asian countries. World Bank has defined poverty as the
people earning less than 1.25 $ per day.

Causes of Poverty:

One historical reason is the low level of economic development under the British colonial
administration.

Rapid growth of population, particularly among the poor is considered a major cause of Indian poverty.
Our agricultural sector has failed to generate much employment opportunities for the farm labourers.
Similarly, our industries could not provide much job for the job seekers.

One of the major causes of poverty is the unequal distribution of land and other resources. Various land
reform measures introduced after Independence could not improve the life of millions of rural poor
because of their poor implementation.

People in India, including the very poor, spend a lot of money on social occasions like marriages,
festivals, etc. Poor people hardly have any savings; they are, thus forced to borrow. Unable to pay
because of poverty, they became victims of indebtedness.

Steps taken by the Government for Poverty Alleviation -
0] Promotion of economic growth
(i) Targeted poverty alleviation programmes.




Poverty Alleviation Programmes:

1. Prime Minister Rojgar Yojana (PMRY) 1993: The aim of this programme was to create self-
employment opportunities for educated unemployed youth in rural areas and small towns.

2. Rural Employment Generation Programme (REGP): REGP was launched in 1995 to create self-
employment opportunities in rural areas.

3. Swarna Jayanti Gram Swarojgar Yojana (SGSY) 1999: The programme aims at bringing the assisted
poor families above the poverty line.

4. Pradhan Mantri Gramodaya Yojana (PMGY) was launched in 2000.

5. Antyodaya Anna Yojana (AAY) 2000 for ‘the poorest of poor’s and elders.

6. National Food for Work Programme (NFWP) was launched in 2004.

7. National Rural Employment Guarantee Act (NREGA) was passed in September 2005 later renamed as
the "Mahatma Gandhi National Rural Employment Guarantee Act" or MGNREGA), is an Indian labour
law and social security measure that aims to guarantee the ‘right to work’. The Act provides 100-days
assured employment every year to rural household.

The Challenges Ahead:
Rural and urban areas and even various states show widespread differences in poverty.

Some social and economic groups are still more vulnerable to poverty.

Improvements would result from economic growth, universal free elementary education, declining
population growth, increasing empowerment of women and economically weaker sections of society.
Poverty would be eradicated only when challenges like low income, inadequate healthcare,
education and job security and gender disparity and disrespect for the poor are overcome.

Very short answer type questions —

1. Which social group is most vulnerable to poverty in India?
(a) Scheduled castes

(b) Scheduled tribes

(c) Casual labourers

(d) All the above

Ans. (d) All the above

2. In which state have the land reform measures helped to reduce poverty?
(@) Tamil Nadu

(b) Punjab

(c) West Bengal

(d) Kerala

Ans. (c) West Bengal

3. Which scheme was started in 1993 to create self-employment opportunities for educated unemployed
youth in rural areas and small towns?

(a) Prime Minister Rojgar Yojana

(b) National Rural Employment Guarantee Act

(c) Rural Employment Generation Programme

(d) Swarnajayanti Gram Swarojgar Yojana

Ans. (a) Prime Minister Rojgar Yojana

4. Which organisation carries out survey for determining the poverty line?
(a) NSSO
(b) CSO




(c) Planning Commission
(d) None of the above
Ans. (a) NSSO

5. In which state is the public distribution system responsible for the reduction in poverty?
(a) Andhra Pradesh

(b) Tamil Nadu

(c) Both (a) and (b)

(d) None of the above

Ans. (c) Both (a) and (b)

6. Antyodaya Anna Yojana was launched in :
(a) 2003

(b) 1999

(c) 2000

(d) 2005

Ans. (c) 2000

7. What is the main cause of poverty in India?
(a) High income inequalities

(b) Less job opportunities

(c) High growth in population

(d) All of these

Ans. (d) All of these

8. What is the full form of NSSO?
Ans. National Sample Survey Organisation.

9. What is average calories requirement in rural India?
Ans. 2400 calories.

10. Name the state of India that has not shown the decline in poverty?
Ans. Assam.

11. When was MGNERAGA launched?
Ans. 2005.

12. What does NFWP mean?
Ans. National Food for Work Program.

13. In which year Prime Minister Rozgar Yojana was launched?
Ans. 1993.

14. What is the aim of PMRY 1993?
Ans. To create self employment.

15. SGSY stands for what?
Ans. Swarnajayanti Gram Swarozgar Yojana.

16. In which year Pradhan Mantri Gramodaya Yojana was Launched?
Ans. 2000.

17. What is AAY?
Ans. Antyodaya Anna Yojna.

18. Name a state which has the poverty ratio below the national average?
Ans. Maharashtra.




19. Which state in India has focused more on human resource development?
Ans. Kerala.

20. Which two states of India are the poorest?
Ans. Odisha and Bihar.

e Short answer type questions —

1. How has the Social Scientists defined poverty?

Ans. Poverty is caused due to many reasons there for social scientists also study many other factors
besides income and consumptions.

Social Scientists study illiteracy level, malnutrition, ill-health, lack of health facilities, lack of job
opportunities, non availability of safe drinking water, sanitation facilities etc.

Thus, the social scientists take a broad view of poverty and its cause.

2. Write any three causes of poverty in India.

Ans. The low growth rate of economic development is main cause of poverty.
Population explosion is also a major reason of poverty.

Many social and cultural and economic factors are responsible for poverty.
Unequal distribution of resources is a major reason of poverty.

3. ‘Poverty is increasing in some parts of the world’. Explain.

Ans. Yes, we are agreeing with this statement that poverty is increasing in some parts of the world.
In Sub-Saharan African nations, poverty has increased.

In 1981, there 41% people below poverty line but in 2001, it rose to 46 percent.

Similarly in some ex-Soviet countries poverty has increased.

4. What is BPL?

Ans. Itis line to measure the poverty in India.

It means Below Poverty Line.

In India, a person is considered below poverty line if he is not getting 2400 calories in rural areas 2100
calories in urban areas.

In year 2000 if family was earning below 1640 Rs per month in rural areas and 2270 Rs in per month in
urban areas, it was called living below poverty line

5. What is NFWP?

Ans. NFWP is National Food for Work Program.

It was launched in 2004 in 150 most backward districts of India.

It is 100% centrally sponsored program. This program is open to all rural poor who need employment.
Food grains are given free of cost to states for this program.

6. What is PMRY?

Ans. Prime Manister Rozgar Yozana is another scheme which was started in 1993.

The aim of this program is to create self employment opportunities for educated unemployment
opportunities for educated unemployed youth in rural areas and small town.

They are helped in setting up small business and industries.

7. Write a short note on REGP.

Ans. It stands for Rural Employment Generation Program.

It was launched in 1995.

The aim of the program is to create self employment opportunities in rural areas and small towns.

A target for creating 25 lakhs new jobs has been set for the program under the Tenth Five Year Plan.

8. Write a short note on SGSY.




Ans. It stands for Swarnajayanti Gram Swarozgar Yozana.

It was launched in 1999.

The program aims at bringing the assisted poor families above the poverty line by organizing them into
self help groups through a mix of bank credit and government subsidy.

9. Write a short note on PMGY.

Ans. It stands for Pradhan Mantri Gramodaya Yozana.

It was launched in 2000.

Additional central assistance is given to states for basic services such as primary health, primary
education, rural shelter, rural drinking water and rural electrification.

10. Write short note on AAY.

Ans. It stands for Antyodaya Anna Yozana.

It was launched in December 2000.

Under the scheme one crore of the poorest among the BPL families covered under the targeted public
distribution system were identified.

Poor families were identified and rice and wheat is given to them at very less rates.

11. What are the indicators used by social Scientists to understand poverty?
Ans. Levels of income and consumption llliteracy level

Lack of general resistance due to malnutrition

Lack to access to healthcare

Lack of job opportunities

Lack of access to safe drinking water and sanitation.

12. What do you understand by Vulnerability to poverty?

Ans. It means some communities or social groups are more prone to poverty than other sections of the
society.

SCs, STs and OBCs are also vulnerable to poverty.

These communities or people such as members of backward classes and widows or handicapped persons
are more vulnerable to poverty.

These groups are always in danger at the time of calamity or disaster.

13. Why are some sections of the society vulnerable to poverty?

Ans. The SCs, STs, OBCs, widow, handicapped persons and landless labourers are vulnerable to poverty
because:

Their means of livelihood are not sufficient.

Their education level is very low.

They don’t have land or other sources of income.

14. ‘Poverty is increasing in some parts of the world’. Explain

Ans. Yes, we agree with this statement that the poverty is increasing in some parts of the world.

In Sub Saharan Africa, poverty in fact rose from 51% in 1981 to 47% in 2008.

Poverty has also resurfaced in some of the former Socialist countries like Russia, where officially it was
non-existent earlier.

15. How were the British policies responsible for the increase in poverty in India?

Ans. One of the historical reasons is the low level of economic development under the British colonial
administration.

The policies of colonial government ruined traditional handicraft and discouraged developed industries
like textile.

The resources of India were very much exploited by the Britishers.

e Long Answer type questions —

1. Discuss the major reasons of poverty in India.




Ans. One of the historical reasons is the low level of economic development under the British
colonial administration. The policies of colonial government ruined traditional handicraft and
discouraged developed industries like textile.

The industries, both in the public sector and private sector did provide some jobs. But these were not
enough to absorb all the job seekers.

Another cause of poverty is huge income inequalities. One of the major reasons for this is unequal
distribution of land and other resources.

Till the new economic policy of 1990, India growth rate was not up to the mark. The low growth rate
led to less development. This resulted in less jobs and low growth rate of income.

2. Describe the poverty trend in India.

Ans. There is substantial decline in poverty ratios in India from about 45 percent in 1993-94 to 37.2
percent in 2004-05.

The proportion of people below poverty line further came down to about 21.9 percent in 2011-12.

If the trend continues, people below poverty line may come down to less than 20% in the next few
years.

Although the percentage of people living under poverty line decline in the earlier two decades (1973-
1993).

The number of poor declined from 407.1 million in 2004-05 to 269.3 million in 2011-12 with an
average annual decline of 2.2 percentage points during 2004-05 to 2011-12.

3. Give an account of interstate disparities of poverty in India.

Ans. The proportion of poor people is not the same in every state. Although state level poverty has
witnessed a secular decline from the levels of early seventies.

Recent estimate show while the all India HCR was 21.9% n 2011-12 states like Madhya Pradesh,
Assam, Uttar Pradesh, Bihar and Odisha had above all India poverty level.

Bihar and Odisha continue to be the two poorest states with poverty ratio of 33.7 and 37.6 percent
respectively.

Along with rural poverty, urban poverty is also high in Odisha, Madhya Pradesh, Bihar and Uttar
Pradesh.

In comparison there has been a significant decline in poverty in Kerala, Jammu and Kashmir,
Andhra Pradesh, Tamil Nadu, Gujarat and west Bengal.

States like Punjab and Haryana have traditionally succeeded in reducing poverty with the help of
high agricultural growth rates.

4. Describe the global poverty trends.

Ans. Poverty decline substantially in China and Southeast Asian countries as a result of rapid
economic growth and massive investment in human resource development.

Number of poor in China has come down from 85% in 1981 to 14 % in 2008 to 6% in 20011.

In the countries of South Asia (India, Pakistan, Sri Lanka, Nepal, Bangladesh, Bhutan) the decline
has not been as rapid.

In Sub Saharan Africa, poverty in fact rose from 51% in 1981 to 47% in 2008.

In Latin America, the ratio of poverty remained the same. It has declined from 11% in 1981 to 6.4%
in 2008.

Poverty has also resurfaced in some of the former Socialist countries like Russia, where officially it
was non-existent earlier.

5. Describe current government strategy of poverty alleviation.

Ans. Indian Government took many measures to increase the economic growth rate. The economic
growth rate of India has increased from 3.5% in 1970's to around 9% in the current decade.

Many Anti-Poverty alleviation programs initiated by the government.

National Rural Employment Guarantee Act was started by the government in 2005. It provides 100
days assured employment to rural people in 200 districts in India.

National Food for Work program was passed in 2004 in 150 most backward districts of India.

Prime Manister Rozgar Yozana is another scheme which was started in 1993.The aim of this
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program is to create self employment opportunities for educated unemployment opportunities for
educated unemployed youth in rural areas and small town.

6. Write a short note on NREGA 2005.

Ans. Presently it is known as Mahatma Gandhi National Rural Employment Guarantee Act, 2005.

It aims to provide 100 days of wage employment to every household to ensure livelihood security in
rural areas.

It also aimed at sustainable development to address the cause of draught, deforestation and soil
erosion.

One third of the proposed jobs have been reserved for women.

7. Why does the poverty line vary with time and place?

Ans. A person is considered poor if his or her income or consumption levels falls below a given
‘minimum level’ necessary to fulfill basic needs.

What is necessary to satisfy basic needs is different at different times and in different countries.

That is why; poverty line may vary with time and place. Each country uses an imaginary line that is
considered appropriate for its existing level of development and its accepted minimum social norms.
For example, a person not having a car in the USA may be considered poor. But, in India, owning of
a car is still considered a luxury.

While determining the poverty line in India, a minimum level of food requirement, clothing,
footwear, fuel and light, educational and medical requirement, etc. are determined for subsistence.

8. How poverty line estimated in India? Explain.

Ans. A common method used to measure poverty is based on income and consumption levels.

A minimum requirement of food requirement and other basic needs such as clothing, footwear, fuel
and light, educational and medical requirement, etc. are determined for subsistence.

These are then calculated in terms of money required to consume them by multiplying physical
quantities by their prices in rupees.

Such consumption expenditure determines the poverty line. For the year 2000, the poverty line for a
person was fixed at Rs 328 per month in rural areas and Rs 454 for the urban areas.

The poverty line is estimated by the NSSO in India.
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POLITICAL SCIENCE
CHAPTER : ELECTORAL POLITICS

Gist of the chapter

1. The following chapter deals with the methods of election, why elections are necessary and how they are
useful for democracy.

2. The chapter tells us about the elections of Haryana state assembly and how a popular leader won against
a well-developed party.

3. Further it explains the need of elections in a democratic country.

4. The chapter tells us about how electoral competition is beneficial for the people.

5. The chapter tries to access election in India.

6. How different constituencies are made.

7. What is electoral list, voter list.

8. How nomination of candidates.

9. How election campaign run in our country.

10. Role of election commission in insuring free and fair elections.

NOTES
% Why do we need elections?

Elections are considered essential for any representative democracy. The voters make many choices in the
elections viz.

1. They can choose who will make laws for them.

2. They can choose who will form the government and take major decisions.

3. They can choose the party whose policies will guide the government and lawmaking

% What makes an election democratic?

1. One person, one vote.

2. Choice to the voters

3. Elections must be held at regular interval.

4. Free and fair elections

% Demerits of political competition:

(@) It creates a sense of disunity, factionalism

(b) Political parties and its leaders level allegations against one another
(c) Parties and candidates often use dirty tricks to win elections.

«» Electoral constituencies




The country is divided into different areas for purposes of elections. These areas are called electoral

constituencies. E.g. our country is divided into 543 Lok Sabha constituencies. The same principle applies

for State Legislative Assemblies, Panchayats and Municipalities.

Reserved Constituencies:

There are some seats where people of certain communities/castes can contest for elections. These are

called reserved constituencies. For example- 84 seats are reserved for the Scheduled Castes (SC) and 47for

the Scheduled Tribes (ST) in the Lok Sabha.

% Voters' List:
This is a list of those who are eligible to vote. It is prepared much before the election. This is officially
called the Electoral Roll and is commonly known as the Voters' List. Universal adult franchise means
all the citizens aged 18 years and above can vote in the elections.

¢+ Process of Election in India:

Important steps involved in the elections are in as follows: (In sequence)

1. Formation of constituencies.

2. Preparation of Voters' list.

3. Declaration of date of Polling

4. Filling of Nominations.

5. Scrutiny of Nominations

6. Rejection/Withdrawal of Nominations.

7. Election Campaign

8. Polling (Election Day)

9. Counting of Votes and Declaration of Results

¢+ Model Code of Conduct:

% All the candidates and their parties follow the Model Code of Conduct for election campaigns.
According to this, Once elections are announced no party or candidate can:

1. Use any place of worship for election propaganda

2. Use government vehicles, aircrafts and officials for elections; and

3. Ministers shall not lay foundation stones of any projects, take any big policy decisions or make any
promises of providing public facilities.

¢ Unfair practices in elections:

We often hear/read through media about the unfair practices in the elections. These include:

1.Inclusion of false names and exclusion of genuine names in the voters' list.




2.Misuse of government facilities and officials by the ruling party.
3.Excessive use of money by rich candidates and big parties, and
4. Intimidation of voters and rigging on the polling day.

% Power and Functions of the Election Commission of India:

1.EC takes decisions on every aspect of conduct and control of elections from the announcement of
elections to the declaration of results.

2.1t implements the Code of Conduct and punishes any
candidate or party that violates it.
3.During the election period, the Election Commission can

order the government to follow some guidelines, to prevent use and misuse of governmental power to
enhance its chances to win elections, or to transfer some government officials.

4. When on election duty, government officer works under Election commission and not the government.
++ Challenges to Free and Fair elections:
1.Candidates and parties use a lot of money. (Money Power)
2.Candidates with Criminal connection (Muscles Power)
3.Major roles of dominant families and their relatives.
4.Little choice to ordinary voters
5.Candidates of Independent and smaller parties suffer disadvantages.
Very sort answer question

1.Who became the chief minister of Haryana after 1987 state assembly elections?

Ans: Choudhary Devi Lal

2.What is the tenure of an elected legislative assembly?

Ans: 5 Years

3.What was the slogan of Indian National Congress?

Ans: Garibi Hatao

4.Define turn out?

Ans: Voter turnout is the percentage of eligible voters who cast a ballot in an election.

5.What is By-election?




Ans: Sometimes elections are held only for one constituency to fill the vacancy caused by death or
resignation of a member. This is called a By-Election.

6. What does ‘EPIC’ stand for?

Ans: Electoral photo identity card.

7.The members of Election Commission are appointed by the
Ans: President of India

8. Who was Chaudhary Devi lal? Name the party formed by him.

Ans: He remained a Member of Parliament from 1980 to 1982 and was a member of State assembly
between 1982 and 1987. He formed Lok Dal and started Nyaya Yuddh.

9.What are the members of State Assemblies called?

Ans: Member of Legislative Assembly (M.L.A.)

10. How many seats are reserved for SCs and STs in the Lok Sabha?

Ans: 84 seats are reserved for Scheduled Castes and 47 seats for the Scheduled Tribes.
11. What is a voters’ list?

Ans: A detailed record of every person who is registered and eligible to vote.

12. What is a ballot paper?

Ans: A ballot paper is a sheet of paper on which the names of the contesting candidates along with party
names and symbols are listed.

13. What is an EVM?

Ans: Electronic Voting Machine

14.Who can be denied the right to vote?

Ans: Those citizens who have been declared unstable by the law. Those citizens who are barred due to
involvement in corrupt practices or illegal acts related to elections. Those persons who are not a citizen of
India.

15. What is the full form of NOTA?

Ans: None of the Above

Sort answer type question

1.“Elections are considered essential for any representative democracy.” Why?

Ans: In a democracy the citizens choose the people/politicians who will represent them in governing the
country. According to each country's constitution elections are held at regular intervals to give the citizens
a chance to vote for who will represent them. In most democracies the politicians who receive a majority of
votes are elected into government.
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2. What is Universal Adult Franchise?

Ans: The universal Adult Franchise refers that all citizens who are 18 years and above irrespective of their
caste or education, religion, colour, race and economic conditions are free to vote. In a democracy, a
universal adult franchise is important, as it is based on the idea of equality.

3. What is the difference between a voter and a candidate?

Ans: Voter is the person who takes part in the election of any part of the Parliament, and votes for a
particular contestant or also known as Candidate, it is his choice he can also deny from his Right to vote.
Candidate is the person who contests an election of any part of the constitution, if he or she is interested to
take part and serve the people of that particular place or country. He or She, is the one who is voted by the
voters.

4. Mention two functions of the Election Commission.

Ans: 1.EC takes decisions on every aspect of conduct and control of elections from the announcement of
elections to the declaration of results.

2. It implements the Code of Conduct and punishes any candidate or party that violates it.

3. During the election period, the EC can order the government to follow some guidelines, to prevent the
use and misuse of governmental power to enhance its chances to win elections, or to transfer some
government officials.

5.Why has personal information of a candidate to be made public?

Ans: 1. Every candidate who wishes to participate in an election has to make a legal declaration, with full
details of criminal cases pending, details of the assets and liabilities of his or her family and educational
qualifications.

2.The voter will scrutinise the information and then vote accordingly.

3. This helps to bring clarity in democracy.

1. What choices are given to voters during elections?

Ans: (i) They can choose who will make laws for them.

(ii) They can choose who will form the government and take major decisions.
(iii) They can choose the party whose policies will guide the government and law-making.
2. What is the condition for contesting an election in India?

Ans: Anyone who can be a voter can also become a candidate in elections. The candidate should be a
minimum of 25 years age. Every person who wishes to contest an election has to fill out a 'nomination
form' and give some money as 'security deposit'.

3. What happens during the election campaigns?

Ans: The election campaigns are conducted to have a free and open discussion about who is a better
representative and in turn, which party will make a better government. In India, Election Campaigns take
place for a two-week period between the announcement of the final list of candidates and the date of
polling. During this period the candidates contact their voters, political leaders address election meetings
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and political parties mobilise their supporters. Some of the successful slogans given by different political
parties in various elections:

4. Why do we have representative government in most democracies?

Ans: Because it is physically impossible for all the people to take part in all the decision makings. Since all
people have different point of view, decision making process is delayed and it consumes time. So most of
the democratic countries have representative govt.

10.Mention any two provisions which ensure the independence of the Election Commission.

Ans: 1. The Chief Election Commissioner (CEC) is appointed by the President of India. But once
appointed, he/she is not answerable to the President or the Government.

2.1t has a fixed tenure of five years.

Long answer type question

1. Describe the various limitations and challenges of Indian elections.

Ans. The various limitations and challenges of Indian elections are:

1.Big parties with large amount of money are not sure of their victory during elections but are able to gain
undue advantage over smaller parties and independent candidates.

2.Many candidates with serious criminal records have been able to secure party tickets for themselves.
Honest candidates in such situation are pushed to the periphery.

3.Some parties are dominated by a family or few families. These families distribute tickets to their
relatives.

4.1deologies of most of the political parties may be identical to each other and hence are not able to offer
large choices to the citizens.

2. What are the challenges to free and fair elections in India?

Ans: Challenges to free and fair elections in India are as follows:

(i) Candidates and parties with a lot of money may not be sure of their victory but they do enjoy a big and
unfair advantage over smaller parties and independents.

(i) In some parts of the country, candidates with criminal connection have been able to secure a 'ticket'
from major parties.

(ii1) Some families tend to dominate the political parties tickets are distributed to relatives from these
families.

(iv) Very often, elections offer little choice to ordinary citizens as both the major parties are similar to each
other in their policies and practices.

(v) Smaller parties and independent candidates suffer a huge disadvantage as compared to the bigger
parties.

3. Explain the role of the Election Commission in conducting the free and fair elections.

Ans. The role of the Election Commission in conducting the free and fair elections is as follows.




Election Commission takes decisions on every aspect of conduct and control of elections
from the announcement of elections to the declaration of results.

It implements the Code of Conduct and punishes any candidate or party that violates it.

It allots election symbols to parties and independent candidates.

During the election period, the Election Commission can order the government to follow
some guidelines, to prevent use and misuse of governmental power to enhance its chances to
win elections, or to transfer some government officials.

When on election duty, government officers work under the control of the Election
Commission and not the government.

4. What is meant by code of conduct? How does it control the activities of parties and candidates?

Ans. Code of conduct means a set of norms and guidelines lo he followed by political panics and
candidates during the election time. According to it no party or candidate can:

A. Use any place of worship for election propaganda.

B. Use government vehicles, aircraft and officials for elections.

C. Once elections are announced, Ministers shall not lay foundation stones of any project, take any big
policy decisions or make any promises to provide public facilities.

5. Write a brief note on the Election Commission.

Ans. The Election Commission is independent and very powerful . It enjoys the same kind of independence
that the judiciary enjoys. The Chief Election Commissioner (CEC) is appointed by the President of India.
He heads the Election Commission. After his election the C E C is not answerable to the President or the
government. It is impossible for the government to remove the CEC, even if it is dissatisfied with him. The
powers of the Election Commission of India are as follows:

1.EC takes decisions on every aspect of conduct and control of elections from the announcement of
elections to the declaration of results.

2.1t implements the Code of Conduct and punishes any candidate or party that violates it

3.During the election period, the EC can order the government to follow some guidelines, to prevent use
and misuse of governmental power to enhance its chances to win elections, or to transfer some government
officials

4. When on election duty, government officers work under the control of the EC and not the governmen

CHAPTER: WORKING OF INSTITUTIONS

Gist of the chapter

1.The chapter tells about the working of institutions whose rules have to followed by democratic elected
people.

2.How major decisions are taken and implemented in our society.

3.How dispute are solved.




4.Types of institutions:- Legislative, Executive and Judiciary
5. Functions of these institutions.
6. Importance of these institution in working of government.
7. How the working of central government take place and people responsible for it.
NOTES
In a democracy the representatives have to follow some rules and procedures because they have to
work with and within institutions.
Legislature, executive and judiciary play a key role in major decisions.
President is the head of the state and is the highest formal authority in the country.
Prime Minister is the head of the government and actually exercises all governmental powers. He takes
most of the decisions in the Cabinet meetings.
Parliament consists of the President and two Houses, Lok Sabha and Rajya Sabha.

< The Mandal Commission:

(A) The Government of India had appointed the Second Backward Classes Commission in 1979. It was
headed by Sh. B.P. Mandal.

(B) It was asked the Mandal Commission to determine the criteria to identify the socially and educationally
backward classes in India and recommend steps to be taken for their advancement.

(C) One of the main recommendation of the commission was that 27 per cent of government jobs be
reserved for the socially and educationally backward classes.

% The Parliament: Legislature

In all democracies, an assembly of elected representatives exercises supreme political authority on behalf
of the people. In India such a national assembly of elected representatives is called Parliament. At the state
level this is called Legislature or Legislative Assembly.

Parliament consists of the President and two Houses, Lok Sabha and Rajya Sabha.

+ Lok Sabha versus Rajya Sabha: A comparison

Features Lok Sabha Rajya Sabha

Chamber/House Lower Chamber/House Upper Chamber/House

Total members 545 250

Election Directly elected by people Elected by the MLAS

Tenure (in Years) 05 years. 06 (every two years election are held
for 1/3rd seats)

Dissolution Dissolved in every 5 years. Permanent, Cannot

of 02 be dissolved
Nomination 02 members nominated by the 12 members are nominated by
President from Anglo-Indian president of India from literature,
science community art, and social
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community service

% Need for a Parliament:
(i) Parliament is the final authority for making laws in any Country

(if)Parliament controls those who run the government. The government can take decisions so long as they
enjoy support of the Parliament.

(iii) Parliament controls all the money that government has.

(iv) Parliament is the highest forum of discussion and debate on public issues and national policies in any
Country

% Lok Sabha Versus Rajya Sabha: Comparison of Powers
(@) Any ordinary law has to be passed by both the Houses. But if there is difference between the Houses,
the final decision is taken in a joint session. Owing to the larger number, the view of the Lok Sabha is

likely to prevail.

(b) Lok Sabha exercises more powers in money matters. The Rajya Sabha can suggest changes in such
matters but the Lok Sabha has the final say in these matters.

(c) The Lok Sabha controls the Council of Ministers. The government has to quit if they lose the
confidence of the LokSabha. The Rajya Sabha does not have this power.

% Executive: Political and Permanent

At different level of the government, there are some functionaries who take day-to-day decisions. All those
functionaries are collectively known as the executive. They are called executive because they are in charge
of the 'execution of the policies of the government. Thus, when we talk about 'the government we usually
mean the executive. Further, executive is classified in two categories-

(a) Political executive and,

(b) Permanent executive.

The Political executive is elected by the people for specific periods (e.g. 5 years). Ministers fall in this

category. There are some people to assist the political executive in carrying out day-to-day administration.
They are appointed for a long period of time. This is called permanent executive or civil services.

1.The President appoints the Prime Minister and on the advice of the Prime Minister other ministers are
appointed by the President.

2.The ministers should be the member of Parliament. A person who is not the member of the Parliament
can become the Minister but he has to get elected to one of the houses within six month.

«» The Council of Ministers

The Council of Minister is the official name for the body that includes all the ministers. It includes
following three types of ministers:




i. Cabinet Ministers: About 20 top-level ministers who are in charge of the major ministries.
ii. Ministers of State with independent charge: They are usually in-charge of small Ministries.
lii. Ministers of State: They are attached to and required to assist Cabinet Ministers.
e The parliamentary democracy is often called the Cabinet form of government because most of the
important decisions are taken in Cabinet meetings.
Collective Responsibility: The ministers may have different views and opinions, but everyone has

to own up to every decision of the Cabinet. While the Prime Minister is the head of the government,
the President is the head of the State.

 Powers and functions of the Prime Minister
(i))Head of the government.

(it) Ministers are appointed on advice of the Prime Minister.
(iii) Distribution and redistribution of work to the ministers.
(iv)He can dismiss the ministers.

(v) He chairs Cabinet meetings.

(vi)He coordinates the work of different Department. His decisions are final in case disagreements arise
between Departments.

(vii) Leader of the house.
(viii) Represents the country on foreign tours.

+« Prime Ministerial form of government: If Cabinet is the most powerful institution; within the
Cabinet it is the Prime Minister who is the most powerful. The Prime Minister commands so much
power in parliamentary democracy that parliamentary democracy is sometimes seen as Prime
Ministerial form of government.

Election of the President: The President is not directly elected by the people. The elected Members of
Parliament (MPs) and the elected Members of the Legislative Assemblies (MLAS) elect the president.

Powers and Functions of the President of India:

Q) All major appointments are made in the name of the President. These include the appointment
of the Chief Justice& Judges of the Supreme Court and the High Courts of the states, the
Governors of the states, the Election Commissioners, ambassadors to other countries, etc.

(i) All international treaties and agreements are made in the name of the President.

(iii)  The President is the supreme commander of the defence forces of India.

(iv)  All laws and major policy decisions of the government are issued in the name of the President.

(v) A bill passed by the Parliament becomes a law only after the President gives assent to it.

(vi) The President appoints the Prime Minister and other ministers on advice of the Prime Minister.

Indian Judiciary: The Indian Judiciary consists of a Supreme Court for the entire nation, High Courts
in the states, District Courts and the Courts at the local level.




> Integrated Judiciary: India has an integrated judiciary. It means the Supreme Court controls the
judicial administration in the country. Its decisions are binding on all other courts of the country.

» Judicial Review: The Supreme Court of India and the High Courts can determine the constitutional
validity of any legislation or action of the executive in the country, whether at the Union level or at
the state level, when it is challenged before them. This is known as the judicial review.

Public interest litigation (PIL): The courts can give judgments and directive to protect public
interest. Anyone can approach the courts if public interest is hurt by the actions of government. This
is called public interest litigation.

Independence of Judiciary: An independent and powerful judiciary is considered essential for
democracies Independence of judiciary means that it is not under the control of the legislature or the
executive. Indian judiciary is considered independent owing to the following reasons:

(1) The judges of the Supreme Court and the High Courts are appointed by the President on the
advice of the Prime Minister and in consultation with the Chief Justice of the Supreme Court. In
practice it means that the senior judges of the Supreme Court select the new judges of the Supreme
Court and the High Courts and there is very little scope for interference by the political executive.

(ii) A judge can be removed only by an impeachment motion passed separately by two-thirds members
of the two Houses of the Parliament.

(iii) The salary and allowances of the judges cannot be decreased except HHE emergency.
(iv)The courts in India have the power of judicial review. They can declare invalid any law of the
legislature or the actions of the executive whether at the Union level or at the state level if they find

such a law (iv) or action is against the Constitution.

(v) The power and the independence of the Indian judiciary allow it to act as the guardian of the
Fundamental Rights.

Very sort answer question
1. Name the three organs of the Government.
Ans: The legislature, the executive and the judiciary.
2. What are institutions?
Ans: The arrangements which are made in modern democracies to run the government.
3. Who appoints the Prime Minister?
Ans: The President
4. What is judiciary?
Ans: The Indian Judiciary is a system of courts that interpret and apply the law.
5. Who has the final authority for making laws in any country?

Ans: Parliament is the final authority for making laws in any country.

6. Which house of Parliament is more powerful in reality?

Ans: The Lok Sabha




7. What is the length of the term of a government in India?
Ans. In India a government’s normal term is:

e byears
o Elections to elect new representatives are held every 5 years.

8. What do you mean by Office Memorandum?

Ans: An 'Office Memorandum®” is a special order of the government. It is issued for day to day
administration.

9. Who was the head of second backward classes commission?

Ans: B P Mandal was the head of Mandal Commission.

10.Who becomes the Prime Minister of the Lok Sabha election in 1989?
Ans: V.P. Singh

11.Who controls all the money that governments have?

Ans: Parliaments control all the money that governments have.

12.Who are called civil servants?

Ans: Civil Servants are government employees not belonging to any political party. They are trained
candidates who can work at both Central and State levels.

13.Who is the chairman of cabinet committee?

Ans: Prime Minister.

14.All government activities take place in the name of the

Ans: The President.

15.Who is the guardian of the fundamental rights in India?

Ans. Supreme Court

Sort answer type question

1. Who are Cabinet Ministers?

Ans: (a) Cabinet Ministers: Cabinet Ministers are usually made from the top-level leaders of the ruling
party. They are in charge of major ministries. There are about 20 ministers of the Cabinet Rank.

(b) Minister of State with Independent Charge: These are usually in charge of smaller ministries.
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2. Why is there a need for political institutions?

Ans: A democracy Works well when the political institutions, like the: Prime Minister and the Cabinet,
the Civil Servants, the Supreme Court, etc., perform functions assigned to them.

The need for these political institutions are

(i) To take decisions:- Countries need political institutions to take decisions regarding the welfare of the
people. Institutions formulate various policies and welfare schemes.

(if) To implement the decisions :-The decisions which have been taken are to be implemented.

(iii) To solve the disputes :- Institutions are needed to solve the disputes between various institutions.

3. Which house of the Parliament is more powerful in India? Give reasons.
Ans: Lok Sabha has more power than Rajya Sabha in the Indian Parliamentary system. Following are

the reasons behind it: Lok Sabha is 'directly elected by the people’ of the country by using their power
to vote. Lok Sabha has more power over matter dealing with money matters.

4. What is the Presidential form of government? Give an example of one country.

Ans: A system of government in which the president is constitutionally independent of the legislature.

Features of the Presidential Government :

The President is both the head of the State and the head of government.

As the head of State, he occupies a ceremonial position. As the head of government, he leads the
executive organ of government. There is single executive.
Example : USA.

5. How are some of the delays and complications introduced by democratic institutions very useful?

Ans: Delays and complications introduced by institutions are very useful. They provide an opportunity
for a wider set of people to be consulted in any decision. Institutions make it difficult to have a good
decision taken very quickly. But, they also make it equally difficult to rush through a bad decision. That
is why, democratic governments insist on institutions.

6. Write any three constraints on the power of the Prime Minister of a coalition government.

Ans. (i) The Prime Minister of a coalition government cannot take decisions as he likes.

(ii) He has to accommodate different groups and factions in his party as well as among alliance
partner.

(iii) He also has to heed to the view and positions of the coalition partners and other parties, on
whose support the survival of the government depends.

. What does the ‘Independence of Judiciary’ mean?

Ans. (i) The judiciary is not under the control of the Legislature or the Executive.

(i) The judges do not act on the directions of the government or according to the wishes of the
party in power.

(iii) That is why, all modem democracies have units that are independent of the Legislature and the
Executive.




8. Give any three functions or responsibilities of the government.

Ans: 1. Government collects taxes and uses it for administration, defence and development
programmes.

2.Government ensures security to the citizens and provides facilities for education and health.

3.1t formulates and implements several welfare schemes.

9. Why do the political executives have more power than the permanent executives?

Ans: Political executive is more powerful than the permanent executive because:
a. Ministers are directly elected by the people.
b. They are answerable and accountable to the people.
c. Democracy is based on the will of the people, therefore it is the elected ministers
who represents that will and takes the final decision.

10.What is the procedure for the removal of the judges?

Ans: The procedure for the removed of a judge is called an impeachment. An impeachment motion
is passed separately by two-thirds members of the two Houses of the Parliament. Thus, the judges
who are appointed by the President cannot be removed by the President alone.

Long answer type question

1. What are the powers and functions of the President of India?

Ans. President is the nominal head of the country and represents Indian republic. He has to perform
following functions-

(i) He appoints Prime Minister although he has to appoint the leader of majority party as the PM.

(it) All government activities take place in the name of the President.

(iii) All laws and major policy decisions of the government are issued in her name.

(iv) All major appointments are made in the name of the President. These include the appointment of Chief
Justice of India, the Judges of the Supreme Court and the High Courts, the Election Commissioners and
ambassadors to other countries.

(v) All international treaties and agreements are made in the name of the President.

(vi) A bill passed by the parliament becomes law only after the President gives assent to it.

2. How was the dispute of Mandal Commission resolved? Explain.

Ans: (i) Some persons and associations opposed this order and filed a number of cases in the courts.

(if) They appealed to the court's to declare the order invalid and stop its implementation.

(iii) The Supreme Court of India bunched all these cases together. This case was known as ‘Indira Sawhney
and others Vs Union of India case'.

(iv) Eleven judges of the Supreme Court heard the arguments of both sides.

(v) By a majority, the Supreme Court judges in 1992 declared that this order of the Government of India
was valid.

(vi) At the same time, the Supreme Court asked the government to modify its original order.

(vii) It said that well-to-do persons among the backward classes should be excluded from getting the
benefit of reservation.




(viii) Accordingly, the Department of Personnel and Training issued another Memorandum on September
8, 1993. The dispute thus came to an end and this policy has been followed since then.

3. Distinguish between the Lok Sabha and the Rajya Sabha.

Ans. We have the following points as the differences between the Lok Sabha and the Rajya Sabha:

1) Lok Sabha, as per its name, it is the assembly in which the people elect their representatives. In Rajya
Sabha, the representatives are chosen by the elected members of the State Assemblies.

2) Rajya Sabha is considered as the permanent body whereas the Lok Sabha dissolved after every five
years.

3) The maximum members in the Lok Sabha at present are 552 while there are only 250 members in the
Rajya Sabha.

4) For being a member in Lok Sabha, any Indian citizen is eligible having a minimum age of 25 years. On
the other hand in the case of Rajya Sabha minimum age is 30 years.

5) The introduction of the Money Bill is done only in the Lok Sabha. But after its approval from Lok
Sabha, it is sent to Rajya Sabha, for consideration.

6) The speaker is the representative of the Lok Sabha. And the Vice-President of India is the representative
of Rajya Sabha.

4. How is the Judicial system organized in India? mention its major function.

Ans. The judiciary of India is a very powerful and independent institution. It is a mechanism for the legal
redressal of disputes and prosecution of legal offenders as well. Apart from this, the judiciary at the higher
level also interprets the Constitution and resolves disputes between the centre and states as well as between
different states. It protects the fundamental rights guaranteed by the Constitution and is the mechanism to
seek recourse to constitutional remedies. It also strikes down any law that contravenes the Constitution in
letter and spirit. Along with the legislature and the executive, it is one of the three pillars of Indian
democracy.

5. Why is the Prime Minister the most powerful man in the government? Explain.

Ans: The Prime Minister is elected by the Lok Sabha members who are elected from among their
number. l.e. The Prime Minister must also be a member of the Lok Sabha. If a candidate receives more
than 50% of support ( 272 + in this case), he becomes Prime Minister of India.

Powers of Prime Minister:

He chairs cabinet meetings and coordinates the work of various departments. His decision will be final
if there is a disagreement between departments.

He carries out general oversight of various ministers. All ministers work under his leadership.

The prime minister gives out and redistributes the work of ministers.

He also has the power to remove ministers. If the prime minister resigns, the entire ministry leaves. So
the prime minister is the most powerful person in the cabinet.
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GEOGRAPHY

CHAPTER 4: CLIMATE
Climate:
*  Why do we wear woolens in December-January or why is it hot and uncomfortable in the months of
May-June? Reason behind these is simple- Climate

Climate refers to the sum total of weather conditions and variations over a large area for a long
period of time (more than 30 years).
Weather:
» Weather refers to the state of the atmosphere over an area at any point of time.

— Elements of weather and climate are the same, i.e. temperature, atmospheric pressure, wind,
humidity and precipitation.

You may have observed that the weather conditions fluctuate very often even within a day.

But there is some common pattern over a few weeks or months. i.e. days are cool or hot,
cloudy or bright, and wet or dry.

On the basis of the generalized monthly atmospheric conditions, the year is divided into
seasons such as winter, summer or rainy seasons.

Monsoon:
* The climate of India is described as the “monsoon” type.

— Monsoon refers to the seasonal reversal in the wind direction during a year.

The word ‘monsoon’ is derived from the Arabic word ‘mausim’ which literally means
season.

In Asia, this type of climate is found mainly in the south and the southeast.

Despite an overall unity in the general pattern, there are regional variations in climatic
conditions within the country.

For Example- Rajasthan and J &K, Drass in Jammu and Thiruvananthapuram
In precipitation, there are variations not only in the form and in types of precipitation but also in its
amount and the seasonal distribution.

Precipitation in the form of snowfall in the upper parts of Himalayas. It rains over the rest of the
country. Rain varies from over 400 cm in Meghalaya to less than 10 cm in Ladakh and western

Rajasthan.

But Tamil Nadu coast gets a large portion of its rain during October and November.
Coastal areas experience less contrasts in temperature conditions.
There is decrease in rainfall generally from East to West in the Northern plains.

These variations have given rise to variety in lives of people — in terms of the food they eat, the
clothes they wear and also the kind of houses they live in.




CLIMATIC CONTROLS:
» There are six major controls of the climate of any place. They are:

— Latitude
Altitude,
Pressure and wind system,
Distance from the sea,
Ocean currents, and
relief features.

Due to the curvature of the earth, the amount of solar energy received varies according to
latitude. As a result, air temperature generally decreases from the equator towards the poles.

As one goes from the surface of the earth to higher altitudes, the atmosphere becomes less dense
and temperature decreases. The hills therefore cooler during summers.

The pressure and wind system of any area depend on the latitude and altitude of the place. Thus, it
influences the temperature and rainfall pattern.

The Sea exerts a moderating influence on climate. As the distance from the sea increases, its
moderating influence decreases and the people experience extreme weather conditions. This
condition is known as continentality. (i.e. very hot during summers and very cold during winters).

Ocean currents along with onshore winds affect the climate of the coastal areas.

Relief too plays a major role in determining the climate of a place. High Mountains act as barriers
for cold or hot winds: they may also cause precipitation if they are high enough and lie in the path
of rain-bearing winds. The leeward side of mountains remains relatively dry.

Factors Affecting India’s Climate:
« LATITUDE: The tropic of cancer passes through the middle of the country from the Rann of kuchchh
in the west to Mizoram in the East.

— Almost half of the country, laying south of the Tropic of Cancer, belongs to the tropical area.
— All the remaining area, north of the Tropic, lies in the sub-tropics.

— Therefore, India’s climate has characteristics of tropical as well as subtropical climates.

« Altitude: India has mountains to the north, which have an average height of about 6,000 Meters. India
also has a vast coastal area where the maximum elevation (height) is about 30 meters.

— The Himalayas prevent the cold winds from central Asia from entering the subcontinent.

— It is because of these mountains that this subcontinent experiences comparatively milder winters
as compared to central Asia.

Pressure and Winds:
» The climate and associated weather conditions in India are governed by the following atmospheric
conditions:

— Pressure and surface winds




— Upper air circulation; and
— Western cyclonic disturbances and tropical cyclones

India lies in the region of north easterly winds.

Coriolis Force: An apparent force caused by the earth’s rotation. The Coriolis force is responsible for
deflecting winds towards the right in the northern hemisphere and towards the left in the southern
hemisphere. This is also known as ‘Ferrel’s Law’.

Jet Stream: These are a narrow belt of high altitude (above 12,000 m) westerly winds in the troposphere.
Their speed varies from about 110 km/h in summer to about 184 km/h in winter. A number of separate jet
streams have been identified. The most constant are the mid-latitude and the sub-tropical jet stream.

Western Cyclonic Disturbances: The western cyclonic disturbances are weather phenomena of the winter
month brought in by the westerly flow from the Mediterranean region. They usually influence the weather
of the north and north-western regions of India. Tropical cyclones occur during the monsoon, as well as, in
October- November, and are part of the easterly flow. These disturbances affect the coastal regions of the
country. Have you read or heard about the disasters caused by them on Odisha and Andhra Pradesh coast?

THE SEASONS:
1. THE COLD WEATHER SEASON (WINTER);
e It begins from mid- November in Northern India and stays till February. December and January are
the coldest months in the northern part of India.
The temperature decreases from south to north. The average temperature of Chennai on the eastern
coast is between 24° C to 25°C and in the Northern Plains it ranges between 10°C to 15° C.
Days are warm and nights are cold.
Frost is common in the north and the higher slopes of the Himalayas experience snowfall.
During this season, the north-east trade winds prevail over the country. They blow from land to sea
and hence, for most part of the country, it is dry season.
Some amount of rainfall occurs on the Tamil Nadu coast from these winds as, here they blow from
sea to land.
In the Northern part of the country, a feeble high- pressure region develops, with light winds
moving outwards from this area. Influenced by the relief, these winds blow through the Ganga
valley from the west and the north —west.
The weather is normally marked by clear sky, low temperatures and low humidity and feeble,
variable winds.
A characteristic feature of cold weather season over the Northern Plains is the inflow of cyclonic
disturbances from the west and the north-west. These low-pressure system, originate over the
Mediterranean Sea and western Asia and move into India, along with the westerly flow. They cause
the much needed winter rainfall locally known as “Mahawat” is small, they are of immense
importance for the cultivation of ‘Ravi’ crops.
The peninsular region does not have a well defined cold season. There is hardly any noticeable
seasonal change in temperature pattern during winters due to the moderating influence of the sea.
2. THE HOT WEATHER SEASON (SUMMER)
e It starts from March and lasts till the end of May.
e The influence of the shifting of the heat belt can be seen clearly form temperature recordings. In
May, temperature of 45° C is common in the north-western parts of the country.
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In Peninsular India, temperatures remain lower due to the moderating influence of the oceans.
The summer months experience rising temperature and falling air pressure in the northern part of
the country.
Towards the end of May, an elongated low-pressure area develops in the region extending from the
Thar Desert in the north-west to Patna and Chota Nagpur plateau in the east and south —east.
A striking feature of the hot weather season is the ‘loo’. These are strong, gusty, Hot, dry winds
blowing during the day over the north and north-western India. Sometimes they even continue until
late in the evening. Direct exposure to these winds may even prove to be fatal.
Dust storms are very common during the month of May in Northern India. These storms bring
temporary relief as they lower the temperature and may bring light rain and cool breeze.
This is also the season for localized thunderstorms, associated with violent winds, torrential
downpours, often accompanied by hail. In West Bengal, these storms are known as the ‘Kaal
Baisakhi’.
Towards the close of the summer season, pre-monsoon showers are common especially, in Kerala
and Karnataka. They help in the early ripening of mangoes and are often referred to as ‘mango
showers’.
3. ADVANCING MONSOON (THE RAINY SEASON)
It begins by early June- Bringing rainfall for the whole country.
Characteristics of advancing Monsoon:
Southwest winds flowing with an average velocity of 30 m/H.
Brings a total change in the weather.
o Rainfall- amount of rainfall received may vary from region to region.
Monsoon have a break in rainfall:
e It has wet and dry spell.
e They are interspersed with rainless intervals.
e This all depends on the Monsoon through which moves
e Tropical depressions also have an impact over it. (cyclone)
e Impact if the uncertainties of the monsoon.
Retreating / Post Monsoons (the transition season)
e Being October — November with the apparent movement of sun towards of south,
o The monsoon trough or the low-pressure trough over the northern plains becomes weaker.
o This is gradually replaced by a high-pressure system.
o The south-west monsoon winds weaken and start withdrawing gradually.
o By the beginning of October, the monsoon withdraws from the Northern Plains.

e Period of transition: Hot rainy season to dry winter conditions.
e Phenomenon of ‘October Heat’:
= Due to the condition of High temperature and humidity the oppressive weather is felt
during October.
This shift in the pressure condition is associated with the occurrence of cyclones.
Along with them comes the destruction.

DISTRIBUTION OF RAINFALL
e The rainfall over India is unevenly distributed.
o Western coast and Northeastern parts receive over about 400 cm rainfall.
o Whereas the parts of Western Rajasthan and adjoining areas receives less than 60 cm of
rainfall.
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The rainfall is equally low in the interior part of the Deccan Plateau.
Similarly, the part of Ladakh also receives less rainfall.
Rest part of the country receives moderate rainfall, snowfall is restricted to the Himalayan
region.
Along with the uneven distribution, the annual rainfall is also highly variable.

MONSOON AS A UNIFYING BOND:

Monsoon acts as a unifying bond in India. This can be established with the help of the following:
The seasonal alteration of the wind system and the associated weather conditions provide rhythmic
cycle of seasons.
Even the uncertainties of rain and uneven distribution are very much typical of the monsoons.
The Indian landscape, its animal and plant life, its entire agricultural calendar and the life of the
people, including their festivities, revolve around this phenomenon.
Year after year, people of India from north to south and from east to west, eagerly await the arrival
of monsoon.
These monsoon winds bind the whole country by providing water to set the agricultural activities in
motion.
The river valleys which carry this water also unite as a single river valley unit.




VERY SHORT ANSWER TYPE QUESTION :

Q.1: Why do the Monsoon winds change their direction?

Ans: During Summer, a low pressure area develops over interior Asia as well as over northwestern India.
This causes a complete reversal of the direction of winds during summer.

Q.2: What type of climate does Rajasthan desert have?

Ans: Continental type of climate.

Q.3: Name any two areas affected by tropical cyclones in India.

Ans: Coastal areas of Odisha and Andhra Pradesh.

Q.4: What is the name given to the climate of India?

Ans: The Monsoon climate or Subtropical climate.

Q.5: Whatis ‘Loo’?

Ans: These are strong, gusty, hot, dry winds blowing during the day over the north and noth-western parts
of India.

Q.6: What do you mean by ‘Kaal Baisakhi”?

Ans: These are localized thunderstorms, associated with violent winds, torrential downpours, often
accompanied by hail. In West Bengal, these storms are known as the ‘Kaal Baisakhi” calamity for the
month of Baisakh.

Q.7: What is leeward side?

Ans: The leeward side is the drier side or the side where the trade winds pass after they hit a mountain.
Q.8: Name the areas affected by tropical cyclones in India.

Ans: Coastal regions.

Q.9: In which months of the year in India, day temperatures are high while nights are cool and
pleasant?

Ans: October and November

Q.10: What is “Mango Showers”?

Ans: Pre-monsoon showers which help in the early ripening of mangoes are called ‘Mango Showers”.
SHORT ANSWER TYPE QUESTION

Q.1: What is Inter Tropical Convergence Zone (ITCZ)? Explain.
Ans: i) Inter Tropical Convergence Zone (ITCZ) is a broad trough of low pressure in equatorial latitudes.
i) It lies more or less parallel to the equator.
iii) It moves north or south with the apparent movement of the sun.
iv) North-east and south-east trade winds converge here. s
Q.2: What is ‘EL-Nino’? explain any two features of it.
Ans: EI-Nino is a name given to the periodic development of Warm Ocean current along the coast of Peru
as a temporary replacement of cold Peruvian current.
Features:
e It weakens the trade winds in the regions.

e |t causes heavy rainfall, floods or droughts in different regions of the world.

Q.3: Mention Characteristics of the ‘Monsoon’.
Ans: i) The monsoon type of climate is characterized by the distinct seasonal pattern.




i) The Weather conditions greatly change from one season to the other.
iii) The Monsoon is pulsating in nature.
iv) These are affected by different atmospheric conditions prevailing in the region.
V) The duration of the rainy season is between 100-120 days.
Q.4: How do jet streams influence the climate of India?
Ans: Jet Streams are fast flowing winds blowing in a narrow zone in the high altitude above 12000 m in
troposphere. There are a number of separate jet streams whose speed varies from 110 km/h in summer to
about 184 km/h in winter.
e In winter the sub-tropical westerly jet streams bring rain to the western parts of India, especially
Himachal Pradesh, Haryana and Punjab.
e In Summer the sub-tropical easterly jet blows over Peninsular India approximately at 14° N and
bring some rain and storm.
e Jet streams also play very important role in the arrival and departure of the monsoon wind.
Q.5: What are Western disturbances? Name two areas receiving rains from them. Write any one
benefit of these?
Ans: A low pressure system originating in the Mediterranean Sea and western Asia is known as the
Western Disturbances.
e These cause rainfall in Punjab and Himachal Pradesh.

e The Western disturbances also cause snowfall in the Himalayas.

The rain is highly beneficial to the rabi crop, especially, wheat.
Q.6: Distinguish between Loo and Western Disturbances.
Ans:

Loo

Western Disturbances

Loo is a striking feature of hot weather
season.

Western disturbances are characteristic
features of the cold weather season.

These are strong, gusty, hot dry winds
blowing during the day over the north
and northwestern India.

These low-pressure systems, originate
in the Mediterranean sea and western
Asia and move into India, along with
the westerly flow.

Dust storms are very common during
the months of may in northern India.

These winds blow in India during the
month of January in the North-West
India.

These storms bring temporary relief as
they lower the temperature and may
bring light rain and cool breeze.

They cause the much needed winter
rains over the plain and snowfall in the
mountains.

Direct exposure to these winds may
even prove to be fatal.

The total amount of winter rainfall is of
immense importance for cultivation of
rabi crops.

Q.7: “Amount of rainfall decreases as we go westward from West Bengal to Punjab’. Mention two
reasons.

Ans: i) Both these receive most of the rainfall from the branch of the summer monsoon from the Bay of
Bengal which moves up the Ganges valley. It cannot pass over the high Himalayas, and moves westwards
along the Himalayas. The lower Ganges valley receives the rainfall first and the upper Ganges later on. As
such Kolkata receives more rainfall.

ii) After this, the monsoons move westward, and get drier and drier as the distance from the sea starts
increasing. So Punjab receives less rainfall.

Q.8: Why are South-west monsoons less rainy in Tamil-Nadu? Explain?

Ans: i) Tamil Nadu lies on the leeward side of the Arabian Sea current.

i) Its location is parallel to the Bay of Bengal current.




LONG ANSWER TYPE QUESTIONS

Q.1: Discuss the factors which influence the climate of India.
1) The Himalayan mountain chain
i) Western disturbances
iii) Low pressure regions of central Asia and Tibet plateau.
iv) Jet steams
v) Latitude
Q.2: Explain the major factors which affect the monsoon winds.
Ans: Factors Affecting India’s Climate:
* LATITUDE: The tropic of cancer passes through the middle of the country from the Rann of kuchchh

in the west to Mizoram in the East.
— Almost half of the country, laying south of the Tropic of Cancer, belongs to the tropical area.
— All the remaining area, north of the Tropic, lies in the sub-tropics.
— Therefore, India’s climate has characteristics of tropical as well as subtropical climates.
« Altitude: India has mountains to the north, which have an average height of about 6,000 Meters. India
also has a vast coastal area where the maximum elevation (height) is about 30 meters.
— The Himalayas prevent the cold winds from central Asia from entering the subcontinent.
— Itis because of these mountains that this subcontinent experiences comparatively milder winters
as compared to central Asia.
Pressure and Winds:
The climate and associated weather conditions in India are governed by the following atmospheric
conditions:
— Pressure and surface winds
— Upper air circulation; and
— Western cyclonic disturbances and tropical cyclones
India lies in the region of northeasterly winds.

Q.3: Describe the main features of retreating monsoon season of India.
Ans: i) The months of October and November are known for the retreating monsoons.
ii) During this season, the monsoon through of low pressure becomes weaker and is gradually replaced by
high pressure.
iii) Tropical cyclones and other local winds prevail during this period.
iv) The deltas of Godavari, Krishna and Kaveri receive rainfall from the tropical cyclones.
Q.4: Discuss the main features of the hot weather season of India. Also write its duration.
Ans: The season starts from March and continues up to June.
Main features:
i) Temperature starts rising by the middle of March and by mid-may, the Mercury touches 41° to 42° C.
ii) There are variations in temperature. In north-west, it is around 45° C but in south, it is 26° C to 30° c.
iii) The southern parts do not experience extreme heat because of the proximity to the sea.
iv) ‘Loo’, a hot local wind, blows over the north and the north-west India.
v) Towards the end of May, an elongated low pressure area is developed. It is called the monsoon low
pressure trough.
vi) The locally formed dust storm and thunder storms bring a variable amount of rainfall to different parts
of the country especially in Punjab, Haryana, etc.
vii) Kerala and Western Ghats also experience the pre-monsoon showers. Locally they are known as the
‘Mango showers’.
Q.5: Give an account of the climatic conditions of the cold weather season in India.
Ans: i) Major characteristics:
ii) the temperature decreases from south to the north.
iii) Pressure and winds
iv) Western disturbances




V) Precipitation:
Q.6: “Monsoon acts as a unifying bond”. Explain.
Ans: i) the seasonal alteration of the wind systems and the associated weather conditions provide a
rhythmic cycle of seasons. Even the uncertainties of rain and uneven distribution are very much typical of
the monsoon.
il) The Indian landscape, its animal and plant life, its entire agricultural calendar and the life of the people,
including their festivities, revolve around this phenomenon.
i) Year after year, people of India from north to south and from east to west, eagerly await the arrival of
the monsoon.
iv) These monsoon winds bind the whole country by providing water to set the agricultural activities in
motion.
v) The river valleys which carry this water also unite as a single river valley unit.
Q.7: Distinguish between hot and cold weather seasons.
Ans:

Hot weather Cold weather
The hot weather season begins from | The cold weather season begins from mid-
march and stay till may. November in northern India and stay till
February.
High temperature and low pressure | Low temperature and high pressure over
over the northern plain is the major | the northern plain is the major feature of
feature of this season. this season.
A striking feature of the hot weather | A characteristic feature of the cold
season is the ‘Loo’. weather season over the northern plains is
the inflow of cyclonic disturbances from
the west and the northwest.




Chaper.5: Natural Vegetation and Wildlife

Chapter Overview:

Natural vegetation refers to a plant community which has grown naturally without human aid and has been
left undisturbed by humans for a long time. It is also called virgin vegetation. Both natural vegetation and
wildlife play an important role in sustaining the ecological balance and the economy of a country. This
chapter helps us to understand the variety of vegetation and wildlife found in our country and its affect and
importance for our country.
BIODIVERSITY IN INDIA:
India is a biodiverse country. This will be clear through the following points:
India is one of the twelve mega biodiversity countries of the world. India holds tenth position in the
world and fourth position in Asia, in terms of plant diversity, having a total of 47000 plant species.
There are about 15000 flowering plants in India, which account for 6% of the world’s total count.
India possesses approximately 90000 species of animals as well as rich variety of fish in its fresh
and marine waters.
The country possesses many non-flowering species, such as ferns, algae and fungi too.

CAUSES OF DIVERSITY IN FLORA AND FAUNA:
The term flora is used to denote plants of a particular region or period. The species of animals are referred
to as fauna. The huge diversity in flora and fauna kingdom is due to the following factores:
1. Relief: The relief of a place is defined by its land and type of soil and it is an important factor affecting
the diversity of flora and fauna. The components of relief are- Land & soil.
2. Climate: The climate of a place also affects the biodiversity and is defined by the temperature of that
place and the amount of sunlight and precipitation that it receives. These components are- Temperature,
Photoperiod and Precipitation.
ECOSYSTEM:
All the plants and animals in an area are interdependent and interrelated to each other in their
physical environment, thus forming an ecosystem.
e Human beings are also an integral part of the ecosystem. They utilize the vegetation and wildlife.
e Plants occur in distinct groups or communities in areas having similar climatic conditions.
e The nature of plants in an area determines the animal life of that area.
e A very large ecosystem on land having distinct types of vegetation and animal life is called a
biome.
TYPE OF VEGETATION:
1. Tropical evergreen forest:

Ground Layer
Figure 5.2 : Tropical Evergreen Forest

They are found in areas which receive heave rainfall, more than 200 cm and have a short dry
season.

These forests have tremendously tall trees which reach upto 60 metres or above.

There is no definite time for trees to shed their leaves.

They are mostly found in the areas of the Western Ghats and the island groups of Lakshadweep and
Andaman & Nicobar, also in the upper parts of Assam and Tamil Nadu coast.




e Trees of this forest are ebony, mahogany, rosewood, rubber and cinchona.
e The common animals found here are elecphants, monkey deer and lemur.
2. Tropical Deciduous Forests:

Figure 5.4 : Tropical Deciduous Forest

These are the most widespread forests of India and are also referred to as ‘monsoon forests’.

They are spread over the regons receiving rainfall between 70 to 200 cm.

Trees of these forests shed their leaves.

These forests can be further divided as-

Q) Moist Deciduous Forests: These forests are found in areas receiving rainfall between
200 to 100 cm.

(i)  Dry Deciduous Forests: These forests are found in areas receiving rainfall between
100 to 70 cm.

3. The Thorn Forests and Scrubs:

Figure 5.5 : Thorn Forests and Scrubs
In region with less than 70 cm of rainfall, the natural vegetation consists of thorny trees and bushes.
This type of vegetation is found in the North-Western part of the country, including Gujarat, UP,
MP, Haryana and Rajasthan.
Acacias, palms, euphorbia and cacti are the main plant species here.
Trees are scattered and have long roots penetrating deep in the soil to get moisture.
These forests give way to thorn and shrubs in arid areas.
4. Montane Forests:




Figure 5.6 : Montane Forests

In mountainous areas, the decrease in terhperature with increasing altitude leads to the corresponding
change in natural vegetation.

Because of this there is a succession of natural vegetation in the following manner-
o The wet temperate types of forests are found between the height of 1000 metres to 2000

metres.
The temperate types of forests are found between the height of 1500 metres to 3000 metres.

At still higher elevations, temperate grasslands are common.
At altitudes of above 3600 metres, alpine vegetation is found.
At still higher elevation alpine grasslands are found.
o At higher altitudes, mosses and lichens form part of tundra vegetation.

5. Mangrove Forests:

Figure 5.7 : Mangrove Forests
The Mangrove tidal forests are found in the areas of coasts influenced by tides.
Dense mangroves are the common varieties with roots of the plants submerged under water.
The deltas of Ganga the Mahanadi, The Godavari, The Krishna and the Kaveri are covered by
mangrove forests.
Royal Bengal tiger is the dominant species in these forests along with turtles, Gharials and

crocodiles.

WILDLIFE
¢ India has approximately 90000 animal species and 2000 species of birds. They constitute

13% of the world’s total.

There are about 2546 species of fish, which account for nearly 12% of the world’s stock.
India is home to elephants, one-horn rhinoceros, wild ass, camels, Indian bison, etc.
India is the only country in the world that has both lions and tigers.

Ladakh’s freezing high altitudes are home to yak, the Tibetan antelope, etc.

Birds life in India is pretty colourful with peacocks, parakeets, ducks and cranes.




CAUSES FOR THREAT TO NATURE:
The following are the causes for threat to nature which threaten to disturb ecological balance of the country
leading to extinction of plants and animals-

e Hunting by greedy hunters for commercial purposes.

e Pollution due to chemical and industrial waste, acid deposits etc.
e Introduction of alien species.
e Reckless cutting of Forests.

STEPS TAKEN BY THE GOVERNMENT FOR THE PROTECTION OF FLORA AND FAUNA:
The following steps have been taken by government for the protection of flora and fauna:

e India possesses 14 biosphere reserves for the protection of flora and fauna.

e The Sundarbans of West Bengal, Nanda Devi in Uttrakhand, The Gulf of Mannar in Tamil
Nadu, and the Nilgiris have been included in the World Network of Biosphere Reserves.
89 National Parksm 490 wildlife sanctuaries and zoological gardens have been setup to take
care of the natural heritage.
Project Tiger, Project Rhino, Project Great Indian Bustard, etc have been launched.

VERY SHORT ANSWER TYPE QUESTION:

Q.1: What is an ecosystem?
Ans: The interdependence of species of plants and animals in a given area forms a single ecosystem.

Q.2: The ‘Tropical Rain forests appear green all the year round’ give reason.
Ans: There is no definite time for trees to shed their leaves.

Q.3: Which are the most widespread forests of India?
Ans: Tropical Deciduous Forests.

Q.4: Where is sundari tree found?
Ans: Sundari trees are found in Ganga-Brahamaputra delta.

Q.5: Where are the rhinoceros found?
Ans: In swampy and marshy lands of Assam and North Bengal.

Q.6: In which state is the Sunderban Bio-reserve located?
Ans: West Bengal

Q.7: What are endangered species?
Ans: The plant and animal species which are in danger of getting extinct are called the endangered species.

Q.8: Which bio-reserve is located at the tri-junction of Kerala, Karnataka and Tamil Nadu?
Ans: Nilgiris Bio-reserve.

Q.9: Which wild animal is considered to be the most majestic among the mammals? In which region
of India are they found?

Ans: The elephants are the most majestic animals among the mammals. They are found in the hot wet
deserts of Assam, Karnataka and Kerala.

Q.10: Which types of forests are also known as monsoon forests?
Ans: Tropical Deciduous forests

Q.11: What factors are responsible for the distribution of plants and animals in India?




Ans: Distribution of plants and animals in India is determined primarily by the climate. The other factors

are soil, land and drainage.

Q.12: What is a bioreserve? Give two examples.

Ans: The forest areas where all types of flora and fauna are preserved in their natural environment are
termed as bio-reserves. Two examples of these bio-reserves are Nilgiri (Karnataka, Tamil Nadu and

Kerala) and Nanda Devi (Uttrakhand).

SHORT ANSWER TYPE QUESTIONS :

Q.1: Distinguish between:
a) Flora and Fauna

Ans:

SN

Basis of
Defference

Flora

Fauna

Form of life

The automatically or naturally
grown greenery of a region or an
area is called flora.

Fauna includes all types of
organisms, ranging from tiny
bacteria to the giant elephants.

Origin

It was the first form of life that
appeared on the earth.

It appeared on earth after flora.

Property

It is able to convert solar energy
into food energy.

It is dependent on the flora for its
survival.

Species count

There are more than 47, 000 plant
species in India.

There are more than 90,000
species of animals.

Q.2. Name different types of vegetation found in India.
Ans:

. Tropical Rain Forests

. Tropical Deciduous Forests

. Tropical Thorn Forests and Scrubs

. Temperate Forests with Grasslands

. Alpine and Tundra Vegetation

Q.3: Why has India has a rich heritage of flora and fauna?
Ans: Our country has a rich heritage of flora and fauna. It is one of the twelve mega biodiversity countries
of the world. With about 47,000 plants species, India ranks tenth in the world and fourth in Asia, in plant
diversity.
There are about 15000 flowering plants in India which account for 6% in the world’s total number
of flowering plants.
India also has 90000 species of animals as well as rich variety of fish in its fresh and marine waters.
The following factors are responsible for this diversity:
i) Different types of soil
i) Different climate conditions
iii) Sunlight
iv) Precipitation

Q.4: Name any five medicinal plants found in India and give their uses.
Ans:
I Neem: Has high antibiotic and antibacterial properties.
ii. Tulsi Plant: is used to cure cough and cold.
iii. Kachnar: is used to cure asthma and ulcers.
iv. Sarpagandha: used to tread bold pressure.
V. Jamun : The juice from ripe fruit is used to prepare vinegar which is carminative and diuretic
and has digestive properties.
Vi, Arjun : The fresh juice of leaves is a cure for earache.




Q.5: Give any three steps taken by the government of India to protect the flora and fauna.

Ansi.. Various biosphere reserves have been set up in various parts of India.
ii. More than 100 nationa parks, 515 wildlife sanctuaries and 35 zoological gardens have been set
iii. EIJ'I%e endangered species are being identified and special efforts are being made to preserve
iv. J:?;elrl?ng of wildlife has been banned and special forest officers have been appointed.

LONG ANSWER TYPE QUESTIONS :

Q.1: Quite a few species of plants and animals are endangered in India. Why?

Ans: Nearly 1,300 species of plants are endangered. Quite a few animals’ species are also endangered.
They are endangered because of the following reasons:

i) The greatest danger to wildlife is the destruction of the habitat. The cleaning of land for homes, farmland,
dams and highways destroys the habitat of wildlife.

il) Hunting has been another major cause of extinction. Animals and birds are killed for their skin, feathers
and in some cases, for laboratory specimen.

iii) The use of pesticides and the pollution of the environment threaten many birds and animals species
throughout the world.

iv) Pollution due to chemical and industrial waste is also causing a great threat to the nautral environment.

Q.2: Distinguish between: Tropical Evergreen and Deciduous forests:

SLLN | Basis of Tropical Evergreen Deciduous forests
Defference

1. Location They are found where the average | They are found where the average
rainfall is more than 200 cm. rainfall is between 75 to 200 cm.

Types Tropical evergreen forests appear | These forests are divided into two
green all the year round. types- the moist deciduous and
the dry deciduous forests

Shedding of These do not have a distinct They shed their leaves once a year
leaves season of shedding leaves. to minimize evaporation.

Height The trees in these forests exceed The trees here are less than 50
60 metres in hight. metres in height.

Examples Ebony, Mahaogani, Rosewood, Sal, teak, sesam, bamboo,
cinchona, cedar are the sandalwood, arjun, mulberry
representative trees of these represernt these forests.
forests.

Q.3: How are forests useful to us? Give examples.
Ans:

Forest products: Timber, fuel wood, hardwood, drugs, spices, etc.

ii. Natural environment: provide a natural environment for wildlife which is one of the biggest
assets for India.
Ecological balance: provide an ecological balance which is vital for sustenance of all life forms.
Livelihood: forests proved livelihood to many forest communities and tribes.
Fertility of Soil: Forests add large quantities of leaves, twigs and branches, which after
decomposition, forms humus.
Soil erosion: roots of the plants have the ability to hold soil.




Q.4: Write five main characteristics of the tropical deciduous forests or monsoon forests.
Ans:
i These forests are found in areas receiving 200 to 70 cm of rainfall.
ii. These are the most widespread forests of India.
The trees shed their leaves for about six to eight weeks during summer.
Each species has its own time of shedding leaves, so forests does not appear barren at any time.
Bamboos, sal, shisham, sandalwood and Khair are important species.
These are divided into:
a. Moist deciduous
b. Dry deciduous

Q.5: Why is there need to conserve the biodiversity?
Ans:

All the plants and animals in an area are interdependent and interrelated to each other in their
physical environment, thus forming an ecosystem.

Human beings have selected their crops from a bio-diverse environment and selected a many
medicinal plants.

The animals were selected from large stock provided by nature as much animal.

They also proved us draught power, transportation, meat, eggs. The Fish provide nutritive food.
Many insects help in pollination of crops and fruit trees and exert biological control on such
insects which are harmful.
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Figure 5.4 : Tropical Deciduous Forest
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Figure 5.5 : Thorn Forests and Scrubs
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Figure 5.6 : Montane Forests
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Figure 5.7 : Mangrove Forests
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Map- Work (GEOGRAPHY)
(Outline Political Map of India)

Chapter -3: Drainage

* Rivers: (Identification only) o The Himalayan River Systems-The Indus, The Ganges, and The Satluj o
The Peninsular rivers-The Narmada, The Tapi, The Kaveri, The Krishna, The Godavari, The Mahanadi
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 Lakes: Wular, Pulicat, Sambhar, Chilika
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Chapter - 4: CLIMATE

Climate * Areas receiving rainfall less than 20 cm and over 400 cm (Identification only)
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Figure 4.7 : Annual Rainfall




Chapter - 5: Natural Vegetation and Wild Life

* Vegetation Type: Tropical Evergreen Forest, Tropical Deciduous Forest, Thorn Forest, Montane Forests
and Mangrove- For identification only

- A UBR: I TeTaeR o, IUhics ey gufurdt 9, HieeR o, Uddid 9 3R
TYI9- Had Uga & folQ




* National Parks: Corbett, Kaziranga, Ranthambor, Shivpuri, Kanha, Simlipal & Manas * Bird Sanctuaries:
Bharatpur and Ranganthitto
» Wild Life Sanctuaries: Sariska, Mudumalai, Rajaji, Dachigam (Location and Labelling)
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